1< (catalogue )

] ) . [ 5
REFERENCE ffit DESCRIPTION PAGE
01100 FERRULE FOR CHINA1-WIRE HOSE 2
01200 FERRULE FOR CHINA2-WIRE HOSE 2
01300 FERRULE FOR CHINA3-WIRE HOSE 3
01400 FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE 3
00100 FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE 4
00110 FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 4
00110-A FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 5
00200 FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE 5
00210 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
03310 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
00400 FERRULE FOR 4SP - 4SH/10-16 ~ R12/06-16 HOSE 7
00401 FERRULE FOR R12/20-24 HOSE 7
00018 FERRULE FOR SAE 100R7 HOSE 8
00TFO FERRULE FOR TEFLON HOSE 8
00500 FERRULE FOR SAE 100 R5 HOSE 9
00621 FERRULE FOR GB/T 10544 R13/SAE 100 R13/EN856 R13 HOSE 9
10311 O-RING METRIC MALE FLAT SEAT 14
20211 20211-T | METRIC FEMALE FLAT SEAT 15
20241 20241-T | 45° METRIC FEMALE FLAT SEAT 16
20291 20291-T | 90° METRIC FEMALE FLAT SEAT 17
10411 METRIC MALE 24°CONE SEAT L.T. 18
20411 20411-T | METRIC FEMALE 24° CONE O-RING L.T. 19
20411C METRIC FEMALE MULTISEAL 24° CONE L.T. 20
20411C-T

20441 20441-T |45° METRIC FEMALE 24° CONE L.T. 21
20491 20491-T | 90° METRIC FEMALE 24° CONE O-RING L.T. )
20491C 90° METRIC FEMALE 24° CONE MULTISEAL L.T. 23
20491C-T 23
10511 METRIC MALE 24° CONE SEAT H.T. 24
20511 20511-T | METRIC FEMALE 24° CONE O-RING H.T. 25
20511C METRIC FEMALE 24° MULTISEAL H.T. 26
20511C-T - o

20541 2054]-T 45 METRIC FEMALE 24 CONE O-RING H.T. 7
20541C 45° METRIC FEMALE 24° MULTISEAL H.T. 7%
20541C-T

20591 20591-T 90° METRIC FEMALE 24° CONE O-RING H.T. 79
20591C 90° METRIC FEMALE 24° MULTISEAL H.T. 30

20591C-T




FISL CATALOGUE

10611

20611 20611-T
20691 20691-T
10711

20711 20711-T
20741

20791

10811L

20111 20111-T
20141 20141-T
20191 20191-T
50011

50091

51011

51091

NS NL

12211

12611

12611A

22611 22611-T
22611-W
22611D
22611D-SM
22641 22641-T
22641-W
22691 22691-T
22691-W
22691K

22111 22111-T
22111-W
22141 22141-T
22141-W
22191 22191-T
22191-W
13011-SP
14211

24211 24211-T
24211-W
24291 24291-T
24291-W
15611

16011

16711L

16711

METRIC MALE DOUBLE USE FOR 60°
METRIC FEMALE 60 © CONE
90° METRIC FEMALE 60° CONE

METRIC MALE 74 © CONE

METRIC FEMALE 74 © CONE SEAT

45~ METRIC FEMALE 74 © CONE SEAT
90 © METRIC FEMALE 74 © CONE SEAT

METRIC MALE 90 © CONE

METRIC FEMALE MULTISEAL

45 ° METRIC FEMALE MULTISEAL
90 © METRIC FEMALE MULTISEAL
METRIC STANDPIPE STRAIGHT

90 © METRIC STANDPIPE STRAIGHT
BSP STANDARD PIPE

90 © BSP STANDARD PIPE
RETAINING NUT L.T.

BSP MALE O-RING SEAL

BSP MALE 60 © CONE SEAT
BSP MALE DOUBLE USE FOR 60 °
BSP FEMALE 60 © CONE

CONE SEAT OR BONDED SEAI

BSP FEMALE 60
BSP FEMALE 60 ~

CONE DOUBLE HEXAGON
CONE DOUBLE HEXAGON

45~ BSPFEMALE 60 °© CONE

90 ©° BSPFEMALE 60 © CONE
BSP FEMALE CONE DOUBLE HEXAGON

BSP FEMALE MULTISEAL

45 ° BSPFEMALE MULTISEAL

90 © BSPFEMALE MULTISEAL
BSP MALE

ORFS MALE O-RING SEAL
ORFS FEMALE FLAT SEAT

90 © ORFS FEMALE FLAT SEAT 1SO 12151-1—SAE J516
NPT MALE

SAE O-RING SEAL

JIC74° MALE CONE SEAL LONGER

JIC74° MALE CONE SEAL

L

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

51
51

52

53

54
55

56

57

58
59
60

61

62
63
64
65




FIS{ CATALOGUE

26711

26741 26741W
26791 26791W
26791K

17811

27811

21611

87312

87342

87392
87392-H
HALF
FLANGE
87612

87642

87692

18611

28611 28611W
28691 286912
19611

29611 29611W
29691 29691W
88111

88141

88191
20011-ST
70011

700M

72011

720B

90011

90012

JICFEMALE 74 © CONE SEAT

45° JICFEMALE 74 ° CONE SEAT
90 © JIC FEMALE 74 © CONE SEAT
90 © JIC COMPACT FEMALE 74 ° CONE SEAT
SAE MALE9% ° CONE

SAE FEMALE 90~ CONE SEAT
NPSM FEMALE 60 ©° CONE

SAE FLANGE 3000 PSI

45° SAE FLANGE 3000 PSI

90 © SAE FLANGE 3000 PSI

90 © SAE FLANGE SPECIAL HEIGHT
FL 3000 PSIHALF FLANGE

FS 6000 PSTHALF FLANGE

SAE FLANGE 6000 PSI

45 ° SAE FLANGE 6000 PSI

90 © SAE FLANGE 6000 PSI

JIS METRIC MALE 60 ©° CONE SEAT
JIS METRIC FEMALE 60° CONE SEAT
90°JIS METRIC FEMALE 60° CONE SEAT
JIS GAS FEMALE 60 © CONE SEAT

JIS GAS FEMALE 60 © CONE SEAT

90 © JIS GAS FEMALE 60 © CONE SEAT
JIS FLANGE

45 ° JIS FLANGE

90 © JIS FLANGE

METRIC FEMALE WATERWASH INSERTS 20011-ST
METRIC BANJO

METRIC BOLT

BSP BANJO

BSP BOLT

DOUBLE CONNECTOR

DOUBLE CONNECTOR

66
67
68
69
69
70
71
72
73
74
75
76
76
77
78
79
80
81
82
83
83
84
85
85
86
86
87
88
89
90
90
91




= T—}T FERRULE

=

£} %4 (INDEX)

E
E
E
E

01100 01700 a1 00 01400 00100 00110

mm@ W | (i [T

00110-A 00700 00”10 0 10 00400 00401

0001 001TO 00500 0067 |




>l FERRULE

T
B

JﬁﬂTﬂHWTW 01100

‘ B - RG]

FERRULE FOR CHINA1 WIRE HOSE

Fef) 444 HOSE BORE "] DIMENSIONS
PART NO. 2% DN | £f) DASH L
01100-03 5 03 28
01100-04 6 04 30
01100-05 8 05 32
01100-06 10 06 32
01100-08 12 08 34
01100-10 16 10 39
01100-12 20 12 43
01100-14 2 14 43
01100-16 25 16 50
01100-20 32 20 59
01100-24 40 24 74
01100-32 50 32 78

L

01200

FIFP R F#[",:’J/ Iq—r El I:p[
FERRULE FOR CHINA2-WIRE HOSE

Fop 43 HOSE BORE "I~] DIMENSIONS
PART NO. [ DN | # 4] DASH L
01200 -03 5 03 28
01200 -04 6 04 30
01200 -05 8 05 32
01200 -06 10 06 32
01200 -08 12 08 34
01200-10 16 10 39
01200-12 20 12 43
01200-14 2 14 43
01200-16 25 16 50
01200 -20 32 20 59
01200 -24 40 24 74
01200-32 50 32 78




5] FERRULE
e F—"Ej"E'qT Fh'j ;.'T

FERRULE FOR CHINA3-WIRE HOSE

) ¢ # HOSE BORE Alv| DIMENSIONS
PART NO. SFM % DN | ] DASH L
01300-04 6 04 30
01300-05 8 05 32
01300-06 10 06 32
01300-08 12 08 34
01300-10 16 10 39
01300-12 20 12 43
01300-14 22 14 43
01300-16 25 196 50
01300-20 32 20 59
01300-24 40 24 74
01300-32 50 32 78

L
W R12/20-24 o [sl5F 4 =HRI DM 0] 22 20 Ay 2 i)
FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE

) &7 HOSE BORE "{~] DIMENSIONS
PART NO. A DN | ¢ DASH L
01400 -04 6 04 37.5
01400-06 10 06 39
01400 -08 12 08 41
01400-10 16 10 43
01400-12 20 12 51
01400-14 22 14 54
01400-16 25 196 61.5
01400 -20 32 20 67.5
01400 -24 40 24 75
01400-32 50 32 79




= fp—}T FERRULE

L

il

SAE 100RIA/DIN20022 1ST ﬁ\ r= F,T
FERRULE FOR SAE 100R1AT/DIN20022 IST HOSE

Fef) 144 HOSE BORE "{=] DIMENSIONS
PART NO. 2% DN | £f) DASH L
00100 -02 4 02 27
00100 -04 6 04 30
00100 -05 8 05 31
00100 -06 10 06 32
00100-08 12 08 34
00100-10 16 10 37
00100-12 20 12 43
00100-16 25 16 50
00100 -20 32 20 59
00100 -24 40 24 74
00100 -32 50 32 78

L

I -

SAE 100R1AT/DIN20022 ISN & §r% (8 FT
FERRULE FOR SAE 100RTAT/DIN20022 1SN HOSE

R4 €47 HOSE BORE “5| DIMENSIONS
PART NO. 2% DN | #F) DASH L
00110-03 5 03 24.5
00110-04 6 04 30
00110-05 8 05 31
00110-06 10 06 32
00110-08 12 08 34
00110-10 16 10 37
00110-12 20 12 43
00110-16 25 16 50
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78




i FF—}T FERRULE
. L .
1 SAE 100R1AT/DIN20022 1SN iﬁﬁ}% [E—'.T
FERRULE FOE SAE 100R1AT/DIN20022 1SN HOSE
[ 43 HOSE BORE l~| DIMENSIONS
PART NO. A#Y% DN | ff) DASH L
00110-03A 5 03 23
00110-04A 6 04 30.5
00110-05A 8 05 30
00110-06A 10 06 32
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 12 42
00110-16A 25 16 51
. L -
mifdi -
SAE 100R2A/DIN20022 2ST & ﬁ;"? FF?I
FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE
i3 43 HOSE BORE l~| DIMENSIONS
PART NO. A% DN | f%f} DASH L
00200 -02 4 02 27
00200 -04 6 04 30
00200 -05 8 05 31
00200 -06 10 06 32
00200 -08 12 08 34
00200-10 16 10 37
00200-12 20 12 43
00200-16 25 16 50
00200 -20 32 20 59
00200 -24 40 24 74
00200-32 50 32 78




= FF—}T FERRULE

L

> 00210
;TLWM1“H1T& SAE 100R2AT/EN 853 2SN F{ % ]

FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE

R 1447 HOSE BORE "5 DIMENSIONS
PART NO. 2% DN | #) DASH L
00210-03 5 03 24.5
00210 -04 6 04 30
00210 -05 8 05 31
00210-06 10 06 32
00210 -08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
00210-24 40 24 74
00210-32 50 3 78

B R BT T R
L

Al
‘ | | W 03310

SAE 100R2AT/EN 853 2SN lﬁ*ﬁ;‘é FF—}T
- FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE

fO ) &% HOSE BORE *l5] DIMENSIONS
PART NO. 2 #["% DN | ¢} DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51
03310-20 32 20 59
03310-24 40 24 67
03310-32 50 32 72




2

FERRULE

T

00400

4SP ~ 4SH/12-16 ~ R12/06-16 lﬂﬁ?}‘% ﬁ
FERRULE FOR 4SP ~ 4SH/10-16 ~ R12/06-16 HOSE

FeE) ¢ 47 HOSE BORE "] DIMENSIONS
PART NO. 2% DN | ¥f) DASH L
00400 -04 6 04 37.5
00400 -06 10 06 39
00400 -08 12 08 41
00400-10 16 10 43
00400 -12 20 12 51
00400-16 25 16 61.5
00400 -20 32 20 67.5
00400 -24 40 24 75
00400 -32 50 32 79

- L -

Ty I
R 00401
4SH ~ R12/326 lﬁﬁ‘{;’é il
FERRULE FOR 4SP ~ 4SH/10-16 ~ R12/06-16 HOSE

e E) ¢4 HOSE BORE "I<] DIMENSIONS
PART NO. 2% DN | ##f) DASH L
00401 -20 32 20 67.5
00401 -24 40 24 75
00401 -32 50 32 79




;‘% FF‘—IJ“ FERRULE
_ L _
e 00018
SAE 100 R7 F % fH
FERRULE FOR SAE 100R7 HOSE

f*‘ﬂ ’E]IET HOSE BORE N5] DIMENSIONS
PART NO. JURATE DN | 45¢) DASH L
00018 -03 5 03 27
00018 -04 6 04 29
00018 -05 8 05 31
00018 -06 10 06 31
00018 -08 12 08 34
00018 -10 16 10 36
00018 -12 20 12 43
00018 -16 25 16 50

. L

: 00TFO
HRP B
FERRULE FOR TEFLON HOSE

f*‘frj ﬁiﬁf HOSE BORE N5] DIMENSIONS
PART NO. SF% DN | 45#) DASH L
00TF0-03 4 03 26.5
00TF0-04 6 04 30.7
00TF0-05 8 05 30.6
00TF0-06 10 06 32.1
00TF0-08 12 08 34.3
00TFO0-10 16 10 37
00TFO0-12 20 12 42.8
00TFO0-14 22 14 42.7
00TFO0-16 25 16 50.8




T

00500

SAE 100 R5 4%

FERRULE FOR SAE 100 R5 HOSE

RE3! & 47 HOSE BORE "l~] DIMENSIONS

PART NO. A#U% DN | f%f) DASH | SAE & L

00500 -03 4 03 04 22.6
00500 -04 6 04 05 25.7
00500 -05 8 05 06 224
00500 -07 11 07 08 26.2
00500 -08 12 08 10 27.7
00500-10 16 10 12 29.7
00500 -14 2 14 16 33.5
00500-18 28 18 20 4.7
00500 -22 35 22 24 47

00500 -29 46 29 32 50.8
00500 -38 60 38 40 63.0

LLL

00621

GB/T 10544 R13/SAE 100 R13/EN856 R13
FERRULE FOR FERRULE FOR SAE 100 RS HOSE

- FORSIr o e
U F) € HOSE BORE "] DIMENSIONS
PART NO. 2% F DN | #=] DASH L
00621 -12 20 12 33
00621 -16 23 15 66
00621 -20 32 20 88.5
00621 -24 40 24 102
00621-32 50 32 108




ﬁ ”ET}%J\ HOSE FITTING

F}&d] ( INDEX)

S 2|

2

P63

O

r—




il

’E{T}% -~ HOSE FITTING

NL,NS

12211

12611 12611A 22611 22611D 22611D-SM

NN

Wi

14211

11



il

’E{T}% -~ HOSE FITTING

16011

N\
[

<
(]

Vi
%
I

H

ratH

12



ﬁ ”E{T}%J\ HOSE FITTING

BE1gl

20011-ST

S

70011 700M 71011 710M 72011 720B




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

A

2 0311

- I SRR T EL O HHE

O-RING METRIC MALE FLAT SEAT

R Bl @ E fof N

S E = OF A C S1

103 11-12-04 M12X1.25 6 04 22.5 10 14
103 11-14-04 MI4X1.5 6 04 23.5 11 14
103 11-16-04 MI6X1.5 6 04 23.5 11 17
10311-16-05 MI6X1.5 8 05 23.5 11 17
103 11-16-06 MI6X1.5 10 06 23.5 1 17
103 11-18-06 MISX1.5 10 06 23.5 11 19
10311-22-05 M22X1.5 8 05 27 12 24
103 11-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
10311-27-10 M27X1.5 16 10 315 13 30
10311-30-12 M30X1.5 20 12 33.5 14 3
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 2 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
103 11-45-20 M45X2 32 20 445 50 46
10311-52-24 M52X2 40 24 47.5 2 55
103 11-64-32 M64X2 50 32 52.5 27 65

LB T R . 2 T ASRCE 103120k

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER IS 103 12-XX-XX.




ﬁ’ ”E[T}%J\ HOSE FITTING

C A C A

S i
%Wﬁw

t;jégﬂlj{_ﬂﬂﬂﬂﬂﬂi,, :::;%i;LlLumﬂﬂﬂll_,

B j BEEY T o
METRIC FEMALE FLAT SEAT
20211 20211-T
A e o N

RGN = f A C 2

202 11-10-02 MI10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 16 8.5 19
20211-14-05 M14X1.5 8 05 15.5 8.5 19
202 11-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 MI16X1.5 8 05 17 8 22
202 11-16-06 MI16X1.5 10 06 16.5 8 22
20211-18-05T MI8XI1.5 8 05 17.5 8 24
20211-18-06 M20X1.5 10 06 18.5 8 24
202 11-20-06T M20X1.5 10 06 16 10 24
202 11-20-08 M20X1.5 12 08 18.5 10 27
20211-22-06T M22X1.5 10 06 16 10 27
202 11-22-08 M22X1.5 12 08 19.5 10 27
202 11-22-10 M22X1.5 16 10 19.5 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
202 11-27-08T M27X1.5 12 08 18.5 10 32
20211-27-10T M27X1.5 16 10 21 10 32
202 11-30-12 M30X1.5 20 12 22 11 36
20211-33-14 M33X2 22 14 21.5 13 41
20211-36-12T M36X2 20 12 24 13 41
202 11-36-14T M36X2 22 14 24 13 41
202 11-39-16T M39X2 25 16 25 13 46
20211-42-20W M42X2 32 20 25 15 50
202 11-45-20T M45X2 32 20 27 15 55
202 11-52-24T MS52X2 40 24 27 17 60
202 11-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75

B LR AT IRy - 20 iR ASROREEE  20212x00xx

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 202 12-XX-XX.

i

15



ﬁ’ ”EIT}%J\ HOSE FITTING

450 fﬂ RN
45° METRIC lEMALE FLAT SEAT

R iz E B f R
SR FH A C H 2
20241-14-04 M14X1.5 6 04 38 8.5 19 19
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
20241-16-05 M16X1.5 8 05 42.3 8.5 20.7 22
20241 -18-06 M18X1.5 10 06 45.5 8 22 24
20241-22-08 M22X1.5 12 08 57.5 10 24.5 27
20241-27-10T M27X1.5 16 10 58 10 24.5 32
20241-30-12T M30X1.5 20 12 74 11 30 36
20241-36-12T M36X2 20 12 75 13 27.5 41
20241-36-14T M36X2 22 14 71.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 31.5 41
20241-39-16T M39X2 25 16 82 13 30 46
20241 -42-20W M42X2 32 20 95.9 15 35.2 50
20241-45-20T M45X2 32 20 94.5 15 35.5 55
20241-52-20T M52 X2 32 20 94.5 17 33.8 60
20241 -52-24T M52X2 40 24 105 17 38.5 60
20241 -60-28T M60X2 45 28 118.7 20 43.6 70
20241-62-32T M64 X2 50 32 127.8 23 45.6 75
1 o1 Bk l—k H FI ‘kj ZF,\ 2. v[ P_Q:,J:Fl 3 ;@:;:lﬁ F“ I—k H Yo 20242 -XX -XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 20242-XX -XX.




ﬁ’ ”EIT}%J\ HOSE FITTING

90° 2% ﬁ‘ﬂ( LB
90° METRIC FEMALE FLAT SEAT
20291 20291-T
rE Bz E A N
SRR | OFH A C H s2
20291-12-02 MI12X1.25 4 02 26.5 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291 -14-04 M14X1.5 6 04 27.5 8.5 34 19
20291 -14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 MI16X1.5 6 04 30 8 35 22
20291 -16-05 M16X1.5 8 05 31 8 39.5 22
20291-16-06 MI16X1.5 10 06 353 8 40.3 22
20291 -18-05T MI18X1.5 8 05 33 8 39 24
20291 -18-06 MI18X1.5 10 06 33 8 42 24
20291 -22-08 M22X1.5 12 08 42.5 10 49.5 27
20291 -22-10 M22X1.5 16 10 57.5 10 53 27
20291 -24-08T M24X1.5 12 08 41 11 45.5 30
20291-27-04T M27X1.5 6 04 30 10 35.5 32
20291 -27-08T M27X1.5 12 08 41 10 46 32
20291-27-10T M27X1.5 16 10 48.5 10 51.5 32
20291-30-12 M30X1.5 20 12 50.5 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 57.5 13 64 41
20291-36-16 M36X2 25 16 66 13 76.5 41
20291-39-16T M39X2 25 16 66 13 72.5 46
20291 -42-20W M42X2 32 20 91.5 15 80.5 50
20291 -45-20T M45X2 32 20 75 15 85 55
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52X2 40 24 89 17 97 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291 -64-32T M64X2 50 32 130.95 23 113.3 75
14 1. Byt 4{4 FI ;kj ZF’\ F“f 2. 1/[ I%JH 3 :@:;«:lﬁ F“ IJM ﬂ Yo 20292 -XX-XX °©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER IS 202 92-XX -XX.

17



ﬁﬁ{’ ”ET}%J\ HOSE FITTING

= 10411
T il A i rzr —a
e QW%JJJUUUUU_L_ I R 240
. ISO 8434-1-DIN 3861
< METRIC MALE 24°CONE SEAT L.T.
S B B # 9 i v

Ul T A C S2
10411-12-04 MI12X1.5 6 04 6 22 10 12
10411-14-04 M14X1.5 6 04 8 22 10 14
104 11-14-05 M14X1.5 8 05 8 22 10 14
10411-16-04 M16X1.5 6 04 10 23.5 11 17
10411-16-05 M16X1.5 8 05 10 23.5 11 17
10411-16-06 M16X1.5 10 06 10 23.5 11 17
104 11-18-05 M18X1.5 8 05 12 24 11 19
10411-18-06 M18X1.5 10 06 12 24 11 19
104 11-22-06 M22X1.5 10 06 15 26.5 12 24
104 11-22-08 M22X1.5 12 08 15 27 12 24
104 11-26-08 M26X1.5 12 08 18 28.5 12 27
10411-26-10 M26X1.5 16 10 18 29.5 12 27
104 11-27-10 M27X1.5 16 10 18 32.5 14 30
104 11-30-10 M30X2 16 10 22 33.5 14 32
104 11-30-12 M30X2 20 12 22 33.5 14 32
104 11-36-16 M36X2 25 16 28 36 14 38
10411-45-20 M45X2 32 20 35 40 16 46
104 11-52-24 M52X2 40 24 42 43 16 55

N el
NOTE : L
HOSE FITTINGS SERIES NUMBER IS 104 12-XX-XX.

2.
FOR USE WITH BRAIDED HOSES

YT AR

2.

Y 10412-xx-XX ©
IF USE WITH SPIRAL HOSES

b

18



ﬁ’ ”EIT}%J\ HOSE FITTING

S ]
OIE:H' JI/ E\I
FLE—UM”“ULHJ_L_ %MJULMULLL_ i Isov212541 - ]BJINO3865 a

METRIC FEMALE 24° CONE O-RING L.T.

20411 20411-T
A WBZ¥ E W FAE | 0 MK N

URRTN = A C S2
20411-12-04 | MI2XLS5 6 04 6 0045X15 | 25 1|7
20411-14-04 | MI4XL5 6 04 8 006.5X1.5 | 265 T
204 11-14-06 M14X1.5 10 06 8 006.5X1.5 27.5 2 19
20411-16-04 | MI6XLS 6 04 10 008.0X1.5 | 27 I
20411-16-05 | MI6XLS 8 05 10 008.0X1.5 | 27 2 | »
20411-16-06 | MI6XLS 10 06 10 008.0X1.5 | 28 I
20411-18-05T | MISXL5 8 05 12 010.0X15 | 255 | 15 | 2
20411-18-06 | MISXLS 10 06 12 0100X15 | 29 | 25 | 24
204 11-18-08 M18X1.5 12 08 12 010.0X1.5 29.5 2.5 24
20411-22-05T | M22XL5 8 05 15 0120X2 | 265 3 | o
204 11-22-06T M22X1.5 10 06 15 012.0X2 28.5 3 27
204 11-22-08 M22X1.5 12 08 15 012.0X2 32.5 2.5 27
2041126-10 | M26XL.5 16 10 18 015.0X2 | 345 | 25 | 3
2041126-12 | M26XL.5 20 12 18 0150X2 | 345 | 25 | 3
20411-30-10T M30X2 16 10 22 020.0X2 33 3.8 36
20411-30-12 M30X2 20 12 2 0200X2 | 36.5 4 | 36
20411-36-12T M36X2 20 12 28 026.0X2 36 | 45 | 46
204 11-36-14T M36X2 22 14 28 026.0X2 36.5 4.5 46
204 11-45-16T M45X2 25 16 35 032.0X2 ) 4 | 55
204 11-45-20T M45X2 32 20 35 032.0X2 43 4 | 55
204 11-52-20T M52X2 32 20 42 038.0X2 44.5 4 60
204 11-52-24T M52X2 40 24 1 038.0X2 | 445 4 | 60

E LR AT A e 20 T SRR T 2041 2-x0xx
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20412 -XX-XX.




ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

20411C  20411C-T
S 240 R
METRIC FEMALE MULTISEAL 24° CONE L.T.
rH B A (] e R

S E o f A C )

20411C-12-04 M12X1.5 6 04 6 19.5 3.5 17
204 11C-14-04 M14X1.5 6 04 8 20.5 3.5 19
20411C-16-04 M16X1.5 6 04 10 21 3.5 22
204 11C-16-05 M16X1.5 8 05 10 21 3.5 22
204 11C-16-06 M16X1.5 10 06 10 21 3.5 22
20411C-18-06 MI18X1.5 10 06 12 22.5 3 24
204 11C-22-06T M22X1.5 10 06 15 23.5 4.5 27
204 11C-22-08 M22X1.5 12 08 15 24 4.5 27
20411C-26-10 M26X1.5 16 10 18 27 4 32
204 11C-30-10T M30X2 16 10 22 26.5 7 36
204 11C-30-12 M30X2 20 12 22 27 7 36
20411C-30-14 M30X2 22 14 22 27 7 36
204 11C-36-16 M36X2 25 16 28 29 6.5 41
20411C-45-20T M45X2 32 20 35 33 7 55
20411C-52-24T M52X2 40 24 42 34 8 60

oL R R A fﬁj Zﬁ e 2. I%J:“ |7 ;@j}‘:lﬁ i T Y 20412C-xx-XX °©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 2041 2C-XX-XX.

20



ﬁ ”EIT}%J\ HOSE FITTING

20441-T
450 il B f@2&ﬁﬂ(}wﬂ?ﬁwﬂ

ISO 12151-2-DIN 3865
45° METRIC FEMALE 24° CONE L.T.

g Y E W WIHE | O T S

SERNE R OH A C H S2
20441 -12-04 M14X1.5 6 04 8 006.5X1.5 | 45 2 | 26 | 19
20441-16-05 MI16X1.5 8 05 10 008.0X1.5 | 49.5 2 | 278 | 22
20441 -16-06 MI6X]1.5 10 06 10 008.0X1.5 | 51.3 2 | 278 | 22
20441-18-05T MI8X1.5 8 05 12 010.0X1.5 | 447 | 1.5 | 232 | 22
20441 -18-06 MI8X1.5 10 06 12 010.0XL1.5| 53 |25 | 29 | 24
20441-22-05T M22X1.5 8 05 15 012.0X2 3 27
20441-22-06T M22X1.5 10 06 15 012.0X2 49 30| 253 | 27
20441 -22-08 M22X1.5 12 08 15 0120X2 | 665 | 25 | 34 | 27
20441-26-08T M26X1.5 12 08 18 015.0X2 61 | 21 | 28 | 32
20441-26-10 M26X1.5 16 10 18 015.0X2 70 | 25| 36 | 32
20441 -26-12 M26X1.5 20 12 18 015.0X2 2.5 32
20441-30-10T M30X1.5 16 10 2 020.0X2 64 | 38 | 30 | 36
20441-30-12 M30X1.5 20 12 2 020.0X2 | 84.5 4 | 405 | 36
20441-36-12T M36X1.5 20 12 28 028.0X2 | 793 | 45 | 355 | 46
20441 -36-14T M36X2 2 14 28 028.0X2 45 46
20441 -45-20T M45X2 3 20 35 035.0X2 | 101.8 | 4 | 424 | 55
20441-52-20T M52X2 32 20 ) 042.0X2 4 | 466 | 60
20441 -52-24T M52X2 40 24 4 042.0X2 | 113 4 60

PER W ey b A Rl ‘tj Uiy Fh o2 TJDPQTH M (il A Y 20412 -xx-XX ©

NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20412 -XX-XX.

21



ﬁ ”EIT}%J\ HOSE FITTING

20491-T

00° 1Y 2475 O gt ]
ISO 12151-2-DIN 3865
90° METRIC FEMALE 24° CONE O-RING

S UE: o FHE | 0 WK N

DENE O A C H S2
20491 -12-03 M12X1.5 5 03 6 004.5X1.5 25.6 1 34.5 17
20491 -12-04 MI12X1.5 6 04 6 004.5X1.5 27.5 1 43 17
20491 -14-04 M14X1.5 6 04 8 006.5X1.5 27.5 2 44.5 19
20491 -16-04 M16X1.5 6 04 10 008.0X1.5 27.5 2 45 22
20491 -16-05 M16X1.5 8 05 10 008.0X1.5 3] 2 49.5 22
20491 -16-06 M16X1.5 10 06 10 008.0X1.5 33 2 50.5 22
20491 -18-05T M18X1.5 8 05 12 010.0X1.5 31 1.5 43 22
20491 -18-06 M18X1.5 10 06 12 010.0X1.5 33 2.5 52.5 24
20491 -22-06T M22X1.5 10 06 15 012.0X2.0 33 3 47 27
20491 -22-08 M22X1.5 12 08 15 012.0X2.0 42.5 2.5 62.5 27
20491 -26-08T M26X1.5 12 08 18 015.0X2.0 42.5 2.1 54.5 32
20491 -26-10 M26 X1.5 16 10 18 015.0X2.0 48.5 2.5 68 32
20491 -26-12 M26X1.5 20 12 18 015.0X2.0 50.5 2.5 76 32
20491 -30-10T M30X2 16 10 22 020.0X2.0 48.5 3.8 59.5 36
20491 -30-12 M30X2 20 12 22 020.0X2.0 50.5 4 78 36
20491 -36-12T M36X2 20 12 28 026.0X2.0 50.5 4.5 71 46
20491 -36-14T M36X2 22 14 28 026.0X2.0 4.5 46
20491 -45-16T M45X2 25 16 35 032.0X2.5 66 4 83 55
20491 -45-20T M45X2 32 20 35 032.0X2.5 75 4 95 55
20491 -52-20T M52 X2 32 20 42 038.0X2.5 75 4 96.5 60
20491 -52-24T M52X2 40 24 42 038.0X2.5 89 4 108.5 60

B LSO GEIRT . 2 R AT Y 20492200 ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20492XX-XX.

22



ﬁﬁ{’ ”ET}%J\ HOSE FITTING

20491C 20491C-T MY 247 SRpiFERY
90°ME RIC FEMALE 24° CONE
MULTISEAL L.T.
S [FE i iir A9t i - B
SENE R OH A C H S2
2049 1C-14-04 M14X1.5 6 04 8 30 3.5 | 39.5 19
2049 1C-16-04 MI16X1.5 6 04 10 30 3.5 40 22
2049 1C-16-05 M16X1.5 8 05 10 33 3.5 43 22
2049 1C-16-06 MI16X1.5 10 06 10 3525 | 3.5 | 452 2
2049 1C-18-06 MI8X1.5 10 06 12 35.25 3| 4725 | 24
2049 1C-22-08 M22X1.5 12 08 15 41 4.5 53 27
2049 1C-26-10 M26X1.5 16 10 18 56.5 4 60 32
2049 1C-30-12 M30X2 20 12 22 65.5 7 38.5 36
2049 1C-36-12T M36X2 20 12 28 655 | 65 | 67.5 41
LT AR - 2 I MEEATIO Y 20491 Coxexx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 20492C-XX-XX.

bl

23



il

’Eﬂf}% -~ HOSE FITTING

10511

DRI REE 047 [ERE )

i &ﬁ [T ISO-84341—DIN 3861
= METRIC MALE 24° CONE SEAT H.T.
A LER: i ot -
SEE | H A C | st
10511-14-04 MI14X1.5 6 04 24 12 14
10511-16-04 MI16X1.5 6 04 8 24.5 12 17
10511-18-04 MI18X1.5 6 04 10 25 12 19
105 11-20-05 M20X1.5 8 05 12 26 12 22
10511-20-06 M20X1.5 10 06 12 26 12 22
10511-22-05 M22X1.5 8 05 14 28.5 14 24
10511-22-06 M22X1.5 10 06 14 28.5 14 24
10511-22-08 M22X1.5 12 08 14 29 14 24
10511-24-08 M24X1.5 12 08 16 30 14 27
10511-30-10 M30X2 16 10 20 353 16 32
10511-30-12 M30X2 20 12 20 35.5 16 32
10511-36-12 M36X2 20 12 25 38.5 18 38
10511-36-16 M36X2 25 16 25 40 18 38
10511-42-16 M42X2 25 16 30 43 20 46
10511-42-20 M42X2 32 20 30 44 20 46
10511-52-20 M52X2 B2 20 38 48 22 55
(E N o SR e TE 1 L i/[liﬁ‘TE'Jj MEFEE 7Y 20512-xxxx

NOTE : 1.

FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS 105 12-XX -XX.

2.

IF USE WITH SPIRAL HOSES

bl

24



ﬁ’ ”EIT}%J\ HOSE FITTING

ﬁﬁ% B i e g
7, [ -
>_<LE_|_\_UJ-|UUUUU.L— ' 5 4 e ISO { 151- 2—g§IN 3/86

METRIC FEMALE 24° CONE

O-RING H.T.
20511 20511-T
R Wt B A o 0 s A

S F P f A C | sI

205 11-14-04 MI16X1.5 6 04 6 004.5X1.5 | 274 | 15 | 19
205 11-16-04 MI16X1.5 6 04 8 006.5X1.5 | 27.5 | 1.5 | 22
205 11-16-05 M16X1.5 8 05 8 006.5X1.5 | 27.5 | 15 | 22
205 11-18-04T MI8X1.5 6 04 10 008.0X1.5 | 26 | 15| 22
205 11-18-06 MI8X1.5 10 06 10 008.0X1.5 | 29.5 | 2 | 24
205 11-20-06T M20X1.5 10 06 12 010.0X1.5 | 27.5 | 2.5 | 24
205 11-20-08 M20X1.5 12 08 12 010.0X1.5 | 31.5 | 2.5 | 27
205 11-22-06T M22X1.5 10 06 14 011.0X2.0 | 285 | 3 | 27
205 11-22-08 M22X1.5 12 08 14 011.0X2.0 | 32.5 | 25| 27
205 11-24-06T M24X1.5 10 06 16 013.0x20 | 27 | 3 | 30
205 11-24-08T M24X1.5 12 08 16 013.0X20 | 30 | 3 | 30
20511-30-10T M30X2 16 10 20 0163X2.4 | 33.5 | 25 | 36
205 11-30-12 M30X2 20 12 20 0163X24 | 37 | 3 | 36
205 11-36-12T M36X2 20 12 25 0203X2.4 | 37 |32 | 46
205 11-36-14T M36X2 2 14 25 0203X2.4 | 37 |32 | 46
205 11-42-12T M42X2 20 12 30 0253X2.4 | 37.5 | 3.9 | 50
205 11-42-16T M42X2 25 16 30 0253X24 | 41 |39 | 50
20511-52-20T M52X2 32 20 38 0333X24 | 44 | 45| 60
205 11-52-24T M52X2 40 24 38 033.3X2.4 | 44 | 45 | 60

(E N o SR e TEAL 1 (R f/['ﬁTH MESFATIOR M 20512-xx-xx o

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 15205 12-XX-XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

20511C  20511C-T o
SRR 247 SREE T
METRIC FEMALE 24° MULTISEAL

H.T.
SIS izt E R w9 ¥ R
SFNE]OFOH A C S2
20511C-18-04T MI18X1.5 6 04 10 21 3 2
20511C-20-05T M20X1.5 8 05 12 215 | 45 24
20511C-20-06T M20X1.5 10 06 12 215 | 45 24
20511C-22-06T M22X1.5 10 06 14 215 | 45 27
20511C-24-08T M24X1.5 12 08 16 23 5 30
20511C-30-10T M30X2 16 10 20 26.5 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
20511C-42-16T M42X2 25 16 30 29.5 9 50
20511C-52-20T M52X2 32 20 38 34 8 60
BL R EEPT GG e 2 IR ST Y 20512Ckexx 0
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

b

HOSE FITTINGS SERIES NUMBER I8205 12C-XX-XX.




ﬁ ”EIT}%J\ HOSE FITTING

45° T Y

ISO 12151-2-DIN
45°METRIC FEMALE
24°CONE O-RING H.T.

24° 0 HEE

S 2 E o FHE | O M N

SERNE | OFOH A C H S2
20541 -14-04 M16X1.5 6 04 6 004.5X1.5 46 1.5 27 19
20541 -16-04 M16X1.5 6 04 8 006.5X1.5 46 1.5 27 22
20541 -16-05 M16X1.5 8 05 8 006.5X1.5 49.5 1.5 28.1 22
20541 -18-04T MI18X1.5 6 04 10 008.0X1.5 41.5 1.5 22.5 22
20541 -18-06 M18X1.5 10 06 10 008.0X1.5 53 2 29.5 24
20541-20-06T M20X1.5 10 06 12 010.0X1.5 48.5 2.5 25 24
20541 -20-08 M20X1.5 12 08 12 010.0X1.5 65.9 2.5 33 27
20541 -22-06T M22X1.5 10 06 14 011.0X2.0 48.9 3 25.3 27
20541 -22-08 M22X1.5 12 08 14 011.0X2.0 66.5 2.5 34 27
20541 -24-08T M24X1.5 12 08 16 013.0X2.0 61.3 3 28.5 30
20541 -30-10T M30X2 16 10 20 016.3X2.4 64.5 2.5 30.8 36
20541 -30-12 M30X2 20 12 20 016.3X2.4 84.5 3 41 36
20541 -36-12T M36X2 20 12 25 020.3X2.4 80 3.2 36 46
20541 -36-14T M36X2 22 14 25 020.3X2.4 3.2 46
20541 -42-16T M42X2 25 16 30 025.3X2.4 89.4 3.9 37.5 50
20541 -52-20T M52X2 32 20 38 033.3X2.4 102 4.5 42.8 60
20541 -52-24T M52X2 40 24 38 033.3X24 4.5 60

LR EE T AT 2 T SR Y 2054200 -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER 1520542 -XX-XX.

27



ﬁ’ ”E[T}%J\ HOSE FITTING

20541C 20541C-T
DY 247 SREIFT] DINGS6S
45° METRIC FEMALE 24° MULTISEAL H.T.
S Bz E oW R e
SEME | OFEOH A C H S2
20541C-16-04 | MI16X1.5 6 04 8 44.8 3 22.7 19
20541C-18-04T | MI8XL.5 6 04 10 43.7 3 216 | 22
20541C-20-06T | M20X1.5 10 06 12 489 | 45 | 246 24
20541C-24-08T | M24X1.5 12 08 16 61.4 | 25 | 265 30
P LR ORI R 2 IR ESTTON  20542Ck0xx ¢

NOTE : 1. FOR USE WITH BRAIDED HOSES
NUMBER 182054 2C-XX -XX.

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

28



ﬁ ”EIT}%J\ HOSE FITTING

04°

']

/”\ﬁ:”[[ E[E,.’z

e 5]

ISO 12151-2-DIN 3865
90°METRIC FEMALE 24°CONE

O-RING H.T.
20591-T
B w N
e H WA E Tmpmp | & B | FONE | OFE A Jc | u | s
2
20591 -14-04 M16X1.5 6 04 6 004.5X1.5 27.5 1.5 45.4 19
20591 -16-04 M16X1.5 6 04 8 006.5X1.5 27.5 1.5 45.5 22
20591 -16-05 M16X1.5 8 05 8 006.5X1.5 31 1.5 50 22
20591 -18-05T M18X1.5 8 05 10 008.0X1.5 31 1.5 43.5 22
20591 -18-06 M18X1.5 10 06 10 008.0X1.5 33 2 53 24
20591 -20-06T M20X1.5 10 06 12 010.0X1.5 33 2.5 46.5 24
20591 -20-08 M20X1.5 12 08 12 010.0X1.5 42.5 2.5 61.5 27
20591 -22-06T M22X1.5 10 06 14 011.0X2.0 33 3 47 27
20591 -22-08 M22X1.5 12 08 14 011.0X2.0 42.5 2.5 62.5 27
20591 -24-08T M24X1.5 12 08 16 013.0X2.0 42.5 3 55 30
20591 -24-10 M24X1.5 16 10 16 013.0X2.0 48.5 2.5 68 30
20591 -30-10T M30X2 16 10 20 016.3X2.4 48.5 2.5 60.5 36
20591 -30-12 M30X2 20 12 20 016.3X2.4 50.5 3 78.5 36
20591 -36-12T M36X2 20 12 25 020.3X2.4 50.5 3.2 72 46
20591 -36-14T M36X2 22 14 25 020.3X2.4 57.5 3.2 74 46
20591 -42-16T M42X2 25 16 30 025.3X2.4 66 3.9 83 50
20591 -52-20T M52X2 32 20 38 033.3X2.4 75 4.5 95.5 60
20591 -52-24T M52X2 40 24 38 033.3X2.4 93 4.5 | 107.5 60
LR R . 2 W ARREE Y 20592

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20592 -XX-XX.

29




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

20591C 20591C-T

NEJ BEZV 247 ZREE T

TRIC FEMALE 24°
MULTISEAL H.T.

A W2 E I 3 W9 i I

NE = f A C H |[S2
20591C-16-04 | MI6X1.5 6 04 8 30 3 40 | 22
20591C-18-04T | MISXLS 6 04 10 30 3| 385 | 22
20591C-20-05T | M20X1.5 8 05 12 33 | 45 0 | 24
20591C-20-06T | M20X1.5 10 06 12 353 | 45 | 457 | 24
20591C-22-06T | M22X1.5 10 06 14 353 | 45 | 447 | 27
20591C-24-08T | M24X1.5 12 08 16 41 5 52 | 30
20591C-30-10T | M30X2 16 10 20 56.5 7 | 565 | 36
20591C-36-12T | M36X2 20 12 25 655 | 65 | 665 | 41
20591C-42-16T | M42X2 25 16 30 78 9 | 735 | 50
20591C-52-20T | M52X2 ) 20 38 93 8 | 87.5 | 60
ol B R R ‘T ' Fh 2. i/[lﬁ'T“ ‘H‘rlﬁg E) Y9 20592C-xx-xX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER 18205 92C-XX -XX.

El

30



ﬁ’ ”E[T}%J\ HOSE FITTING

.Y
g 10611
% - IO REY 60 7 YRR E
B I A REE L
METRIC MALE DOUBLE USE FOR 60°
R BBz E oW R
SR E FOE A C S1
106 11-14-04 M14X1.5 6 04 23.5 11 19
106 11-14-06 M14X1.5 10 06 25 11 19
106 11-16-04 M16X1.5 6 04 27.5 12 22
106 11-16-05 M16X1.5 8 05 27.5 12 22
106 11-18-06 M18X1.5 10 06 29.5 12 24
106 11-22-06 M22X1.5 10 06 30.5 14 27
106 11-22-08 M22X1.5 12 08 31 14 27
106 11-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 35 16 32
106 11-27-10D M27X1.5 16 10 35 16 32
10611-27-10 M27X1.5 16 10 37 18 32
106 11-30-12D M30X2 20 12 38 18 36
106 11-30-12 M30X2 20 12 38 18 36
10611-33-16 M33X2 25 16 43 20 46
106 11-42-20 M42X2 32 20 46 20 50
106 11-45-20 M45X2 32 20 46 20 55
106 11-48-24 M48X2 40 24 46 20 55
106 11-52-24 M52X2 40 24 46 20 60
DA W s Ul IR "ﬁj Eﬁ 2. pEkE | Zﬁ T Y 10612xXX -XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 106 12-XX-XX.

b

31



ﬁ’ ”EIT}%J\ HOSE FITTING

SN
L ' ' i I Y 60 7
""‘F{%ﬁw o i

g METRIC FEMALE 60°CONE

20611 20611-T
RIS 2V E B A
N FA [l | % = f A C S2
206 11-14-04 M14X1.5 6 04 19 5.5 19
206 11-16-05 M16X1.5 8 05 19.5 5.5 22
206 11-16-06 M16X1.5 10 06 19 5.5 22
206 11-18-06 M18X1.5 10 06 21 5.5 24
206 11-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 23.5 6 27
206 11-24-10 M24X1.5 16 10 24.5 6.5 30
206 11-26-10 M26X1.5 16 10 25 6 32
20611-27-10DT M27X1.5 16 10 25.5 6 32
20611-27-10T M27X1.5 16 10 25.5 6 32
206 11-30-10D M30X2 16 10 26.5 6 36
206 11-30-12D M30X2 20 12 26.5 6 36
20611-30-12 M30X2 20 12 27 6 36
206 11-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
206 11-52-24T M52X2 40 24 32 10 60
PER Wl ey b 2 Rl ;J/ Zﬁ 2. PSR A (il A RS Y 20612-xX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 15206 12-XX-XX.




ﬁ’ ”EIT}%J\ HOSE FITTING

900~ = ﬁjﬂ%‘ EEEY 60 °
Ew
90°METRIC FEMALE 60°CONE

20691 20691-T
R [ED A A
SRR B = A C H S2
20611-14-04 M14X1.5 6 04 27.5 5.5 37 19
206 11-16-05 M16X1.5 8 05 31 5.5 42 22
206 11-18-06 M18X1.5 10 06 33 5.5 44.5 24
20611-22-08 M22X1.5 12 08 42.5 6 53.5 27
20611-27-10DT M27X1.5 16 10 56 6 55 32
20611-30-12D M30X2 20 12 66.2 6 68.5 36
20611-36-16 M36X2 25 16 78 6.5 76.5 41
20611-36-14T M36X2 22 14 71.2 6.5 67.5 41
20611-39-16T M39X2 25 16 76.7 6.5 74 46
20611-45-20T M45X2 32 20 91.5 8.5 85 55
206 11-52-24T M52X2 40 24 109.4 10 99 60
LR R e 20 T SRR T 20692x0xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER [S20692-XX-XX.

33



ﬁ’ ”EIT}%J\ HOSE FITTING

A

i

10711 [ 2
gz 74 9f

[L [

Sl METRIC MALE 74°CONE

R BBz E R R
VR = A C Sl

107 11-10-02 MI10X1 4 02 23 12.5 14
10711-10-03 M10X1 5 03 23 12.5 14
10711-12-03 M12X1.5 5 03 26.5 15.7 14
107 11-12-03C MI12X1.25 5 03 24.5 14 14
10711-14-04 M14X1.5 6 04 30.5 18 17
107 11-14-06 M14X1.5 10 06 30.5 18 17
107 11-16-05 M16X1.5 8 05 31.5 19 17
107 11-16-06 M16X1.5 10 06 31.5 19 17
10711-18-06 M18X1.5 10 06 32 19 19
107 11-22-08 M22X1.5 12 08 34.5 19.5 24
10711-24-08 M24X1.5 12 08 36.5 20 27
107 11-27-10 M27X1.5 16 10 39 20.5 30
107 11-30-12 M30X2 20 12 42.5 23 32
10711-30-12E M30X2 20 12 45.5 26 32
10711-33-12 M33X2 20 12 46.5 26 36
10711-36-14 M36X2 22 14 47 26 38
10711-39-16 M39X2 25 16 50 27.5 41
107 11-42-20 M42X2 32 20 52.5 28.5 46
107 11-45-20 M45X2 32 20 52.5 28.5 46

ol B R R éﬂ Ut Fh 2. i/[lﬁ” BT (il iREa! Y 10712 -xX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS107 12-XX-XX.

El

34



ﬁﬁ{’ ”ETT%J\ HOSE FITTING

ﬁﬂﬁ

E

EEREOr

[

=

fElzV 74"

METRIC FEMALE 74°CONE SEAT

20711 20711-T
R R B SR
AENE R OH A C S2
20711-10-02 M10X1 4 02 14 7.5 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 M12X1.5 5 03 14 10 17
20711-12-04 M12X1.5 6 04 15 10 17
20711-14-04 M14X1.5 6 04 16 8.5 19
207 11-14-05 M14X1.5 8 05 15.5 8.5 19
20711-14-06 M14X1.5 10 06 15.5 8.5 19
20711-16-04 M16X1.5 6 04 16.5 8 22
207 11-16-05 M16X1.5 8 05 17 8 22
207 11-16-06 M16X1.5 10 06 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
207 11-18-06 M18X1.5 10 06 18.5 10 24
20711-20-06T M20X1.5 10 06 16 10 24
207 11-20-08 M20X1.5 12 08 18.5 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 19.5 10 27
20711-22-10 M22X1.5 16 10 19 10 27
20711-24-08T M24X1.5 12 08 16.5 11 30
20711-27-08T M27X1.5 12 08 18.5 11 32
20711-27-10T M27X1.5 16 10 21 11 32
20711-27-12 M27X1.5 20 12 21.5 11 32
20711-30-10T M30X1.5 16 10 18 11 36
20711-30-12 M30X1.5 20 12 22 11 36
20711-33-10T M33X2 16 10 19.5 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 21.5 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 24 14 41
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 25 14 46
20711-42-16T M42X?2 25 16 23.5 15 50
207 11-42-20W M42X2 32 20 24.5 15 50
20711-45-20T M45X2 32 20 27 15 55
20711-52-24T M52X2 40 24 27 17 60
LRI AT 2 T AR Y 20712000
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 207 12-XX -XX.

35



ﬁ’ ”EIT}%J\ HOSE FITTING

|
i o R
e

20741
457 [T EREY 747 SR
45°METRIC FEMALE 74°CONE SEAT

H & N
R RZV E SR B A C H S2
20741 -14-04 M14X1.5 6 04 38 8.5 19 19
20741-16-05 MI16X1.5 8 05 423 8 20.7 2
20741 -18-06 MI8X1.5 10 06 45.5 10 2 24
20741-22-08 M22X1.5 12 08 57.5 10 24.5 27
20741-27-10 M27X1.5 16 10 60 11 26.5 3
20741-30-12 M30X1.5 20 12 74 11 30 36
20741-33-12 M33X2 20 12 77.4 13 30 41
20741-33-16 M33X2 25 16 85 13 30.8 41
20741-36-14 M36X2 2 14 79.8 14 29.6 4
20741-36-16 M36X2 25 16 85.7 14 31.5 41
20741-39-16 M39X2 25 16 85 14 33 46
20741 -45-20W M45X2 32 20 97 15 36.2 55
20741-52-24W M52X2 40 24 115.3 17 40.9 60

B LR g gy - 2 f/[liﬁl,J—“E'Jj ELER I8 R Yo 20742 -XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20742 - XX-XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

20791
907 [l Sl EREY 747 [
90°METRIC FEMALE 74°CONE SEAT

T N
o H LB SRR (3 A C H 82

¥
20791-12-04C M12X1.25 6 04 30 9 33.5 17
20791 -12-04 MI12X1.5 6 04 30 10 33.5 17
20791 -14-04 MI14X1.5 6 04 27.5 8.5 34 19
20791 -16-04 M16X1.5 6 04 30 8 35 22
20791 -16-05 M16X1.5 8 05 31 8 39.5 22
20791 -18-06 M18X1.5 10 06 33 10 42 24
20791-22-08 M22X1.5 12 08 42.5 10 49.5 27
20791 -22-10 M22X1.5 16 10 56 10 52.5 27
20791 -27-10 M27X1.5 16 10 48.5 11 54.5 32
20791 -30-12 M30X1.5 20 12 50.5 11 63.5 36
20791-33-12 M33X2 20 12 65.5 13 63.5 41
20791 -33-16 M33X2 25 16 66 13 75.5 41
20791-36-12 M36X2 20 12 65.5 124 63.5 41
20791 -36-14 M36 X2 22 14 71.2 14 64.5 41
20791-39-16 M39X2 25 16 66 14 76.5 46
20791 -45-20W M45X2 32 20 91.5 15 83 55
20791-52-20W M52X2 32 20 93 17 84.5 60
20791 -52-24W M52X1.5 40 24 110.7 17 96.5 60

B LR R g gy - 2 f/[l%JiE'Jj ELER IS RN Y9 20792 -XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20792 -XX-XX.




il

’Eﬁ% -~ HOSE FITTING

.

i

2o gEEE 90 ©

10811L

It

5 T
‘U METRIC MALE 90°CONE
R R A N
D E = Of A C H S2
108 11L-12-04 MI12X1.5 6 04 46 34 17 17
108 11L-12-04A M12X1 6 04 44.5 32.5 17 17
108 11L-14-04 MI4X1.5 6 04 46 34 17 19
108 11L-14-06 M14X1.5 10 06 46.5 34 17 19
108 11L-16-04 M16X1.5 6 04 46.5 34 19 22
108 11L-16-06 MI6X1.5 10 06 46.5 | 34 22 22
108 11L-20-06 M20X1.5 10 06 57 40 27 27
108 11L-20-08 M20X1.5 12 08 57.5 40 | 27 27
108 11L-22-08 M22X1.5 12 08 62.5 | 45 27 27

38



ﬁ’ ”EIT}%J\ HOSE FITTING

A . o

[ [ wowew
P

METRIC FEMALE MULTISEAL

20111 20111-T

O [ES BF KT
DR = A C S2

20111-10-03 MI10X1 5 03 18 | 25 14
20111-10-04 MI10X1 6 04 18 | 25 14
20111-12-04 MI2XL.5 6 04 18.5 4 17
20111-12-05 MI2X1.5 8 05 18.5 4 17
20111-14-04 MI14X1.5 6 04 20 | 45 19
20111-14-05 MI4X1.5 8 05 19.5 | 45 19
20111-16-04 MI6XL.5 6 04 205 | 45 2
20111-16-05 MI16X1.5 8 05 205 | 45 | 2
20111-16-06 MI16X1.5 10 06 20 | 45 2
20111-18-05T MI8XL.5 8 05 21.5 4 24
20111-18-06 MI8X1.5 10 06 22.5 4 24
20111-18-08 MI8X1.5 12 08 2 4 24
20111-20-06T M20X1.5 10 06 235 | 55 24
20111-20-08 M20X1.5 12 08 23 | 55 27
20111-22-06T M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 24.5 5 27
20111-22-10 M22X1.5 16 10 24.5 5 27
20111-24-08T M24X1.5 12 08 2 | 55 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-08DT M27X1.5 12 08 23 | 55 32
20111-27-10DT M27X1.5 16 10 26 5.5 32
20111-27-12D M27X1.5 20 12 26 | 55 32
20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 34 7 46
20111-42-16T M42X2 25 16 30 | 85 50
20111-45-20T M45X2 32 20 31.5 | 8.5 55
20111-52-20T M52X2 32 20 33 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 35 14 75

(E N o SR e TEA 1 L ?['%TE'JE AR 20112-xxxx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTING S SERIES
NUMBER IS 20112-XX-XX.




ﬁ’ ”EIT}%J\ HOSE FITTING

457 IR
45° METRIC FEMALE MULTISEAL

AR R B N A
JE F A | C H | 2
20141-10-03 M10X1 5 03 41.1 2.5 20.7 14
20141 -10-04 M10X1 6 04 43.2 2.5 21.5 14
20141-12-03 M12X1.5 5 03 40.9 4 21.2 17
20141 -12-04 M12X1.5 9 04 43 4 22 17
20141 -14-04 M14X1.5 6 04 43.4 4.5 21.3 19
20141 -14-05 M14X1.5 8 05 45.5 4.5 22.2 19
20141 -16-04 M16X1.5 6 04 44.7 4.5 23.2 22
20141 -16-05 M16X1.5 8 05 45.8 4.5 22.5 22
20141 -16-06 M16X1.5 10 06 47.4 4.5 24.1 22
20141-18-05T M18X1.5 8 05 46.8 4 22.6 24
20141 -18-06 M18X1.5 10 06 48.5 4 24.2 24
20141 -18-08 M18X1.5 12 08 52.2 4 25.7 24
20141 -20-06T M20X1.5 10 06 48.2 5.5 23.9 27
20141 -20-08 M20X1.5 12 08 62.1 5.5 27.2 27
20141-22-06T M22X1.5 10 06 58.4 5 25.7 27
20141 -22-08 M22X1.5 12 08 62.1 5 27.2 27
20141 -24-08T M24X1.5 12 08 61.1 5.5 26.1 30
20141-24-10 M24X1.5 16 10 75.4 5 29.6 30
20141-27-10DT M27X1.5 16 10 74.4 5.5 29.6 32
20141-27-10T M27X2 16 10 74.4 5.5 29.6 32
20141-30-12D M30X1.5 20 12 80.9 6 33.5 36
20141-30-12 M30X2 20 12 80.9 6 33.5 36
20141-36-14T M36X2 22 14 83 7 32.64 41
20141 -39-16T M39X2 25 16 88.2 7 33.95 46
20141 -45-20T M45X2 32 20 99.1 8.5 38.4 55
20141 -52-24T M52X2 40 24 114.1 9 43.4 60
E LR R S e 2 IR AR R T 20142 xxoxx e
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20142 -XX-XX.

40



ﬁ’ ”EIT}%J\ HOSE FITTING

90 7 T HREY SR

90° METRIC FEMALE MULTISEAL

20191 20191-T
& N

e W E oo #H A c | v | %

I
20191 -10-03 M10X1 '-érl 5 03 27 2.5 35.5 14
20191 -12-04 M12X1.5 6 04 30 4 37.5 17
20191 -14-04 M14X1.5 6 04 27.5 4.5 38 19
20191 -14-05 M14X1.5 8 05 33 4.5 41 19
20191 -16-04 M16X1.5 6 04 27.5 4.5 38.5 19
20191 -16-05 M16X1.5 8 05 31 4.5 43 22
20191 -16-06 M16X1.5 10 06 35.3 4.5 43.8 22
20191 -18-05T M18X1.5 8 05 31 4 43 24
20191 -18-06 M18X1.5 10 06 353 4 45.3 24
20191 -18-08 M18X1.5 12 08 40.5 4 50.5 24
20191 -20-06T M20X1.5 10 06 35.3 5.5 43.8 24
20191 -20-08 M20X1.5 12 08 41 5.5 52 27
20191 -22-06T M22X1.5 10 06 35.8 5 76.8 27
20191 -22-08 M22X1.5 12 08 42.5 5 54.5 27
20191 -24-08T M24X1.5 12 08 41 5.5 51 30
20191 -24-10 M24X1.5 16 10 58 5 58.5 30
20191 -27-10DT M27X1.5 16 10 56 5.5 55.5 32
20191 -27-10T M27X2 16 10 56 5.5 55.5 32
20191 -30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 67.5 6 68.5 36
20191 -36-12T M36X2 20 12 65.5 7 68 41
20191 -36-14T M36X2 22 14 71.2 7 69 4
20191 -39-16T M39X2 25 16 76.7 7 73.5 14
20191 -45-20T M45X2 32 20 91.5 8.5 85 655
20191 -52-24T M52X2 40 24 109.4 9 100 60
20191 -64-32T M64X2 50 32 131.75 14 122.3 75

B LREHAT AR 2 0T ASE TR Y 201920
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20192 -XX-XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

c 4 50011
—H. SR
B [T DIN2353
S =l METRIC STANDPIPE STRAIGHT
’ qF IN| T
~ow fe#E DT %ﬁfﬂ F;f?» B A C J fa
%

500 11-06-03 6 5 03 28.5 2
500 11-06-04 6 6 04 29 2
500 11-10-05 10 8 05 31 23
500 11-10-06 10 10 06 3 23
50011-12-06 12 10 06 32.5 23
50011-12-08 12 12 08 33 23
500 11-15-06 15 10 06 35.5 25

50011-15-08 15 12 08 35.5 25 )
500 11-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 41 2
500 11-22-10 2 16 10 4 28
50011-22-12 2 20 12 4 28
50011-22-16 2 25 16 46 28
50011-28-16 28 25 16 47 30
500 11-35-20 35 3 20 56 36
500 11-42-24 4 40 24 62 40
500 11-08-04 8 6 04 31 24
500 11-08-05 8 8 05 33 24
500 11-08-06 8 10 06 33 24
500 11-10-04 10 6 04 33 26
500 11-12-04 12 6 04 34.5 26
500 11-12-05 12 8 05 35.5 26
500 11-14-06 14 10 06 39.5 29
500 11-14-08 14 12 08 40 29
500 11-14-12 14 20 12 45.5 29

500 11-16-08 16 12 08 40.5 30 fr 9l
50011-16-10 16 16 10 45.5 30
500 11-20-10 20 16 10 52 36
50011-20-12 20 20 12 52.5 36
500 11-25-12 25 20 12 56 40
500 11-25-16 25 25 16 57 40
500 11-30-16 30 25 16 63 44
500 11-30-20 30 3 20 64 44
50011-38-16 38 25 16 69 50
50011 38-20 38 3 20 70 50
PESl W b A ‘tJ Uiy FI, 2. fj[I—Flj—“F' e e S i TR Yo 50012-xX-XX ©

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 50012 -XX-XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

50091
00" FHIFEAPI
90 © METRIC éTANDPIPE STRAIGHT
DIN235
— : =

o fiotE D :fﬁc[ljf? FZ‘? H : | S
. A C H
50091-06-03 6 5 03 26.5 2 4.5
50091-06-04 6 6 04 30 2 45.5
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 35.3 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 12 10 06 3536 23 53.8
50091-12-08 12 12 08 41 23 59

50091-15-06 15 10 06 35.3 25 53.8 =Tl
50091-15-08 15 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 2 20 12 65.5 28 76
50091-22-16 2 25 16 76.7 28 81.5
50091-28-16 28 25 16 76.1 30 83.5
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 6 04 30 24 47.5
50091-10-04 10 6 04 30 26 49.5
50091-12-04 12 6 04 30 26 49.5
50091-12-05 12 8 05 33 26 52.5
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64

50091-16-10 16 16 10 56.5 30 68.5 e
50091-20-10 20 16 10 56.5 36 74.5
50091-20-12 20 20 12 65.5 36 85
50091-25-12 25 20 12 65.5 40 89
50091-25-16 25 25 16 76.7 40 93.5
50091-30-16 30 25 16 76.7 40 93.5
50091-30-20 30 32 20 91.5 44 108.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 114.5

L R R S
NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER IS50092 -XX-XX.

2 AT ST

750092 -xx-XX °
2. IF USE WITH SPIRAL HOSES , HOSE FITTING S SERIES

43



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

o 51011

. | [T i 2 A
e Lﬁé@. e

BSP STANDARD PIPE

RS V9 E D W A
SR E = A C
51011-04-03 4 5 27 17
51011-06-03 6 5 30.5 19
51011-06-04 6 6 31 19
51011-08-04 8 6 31 19
51011-08-05 8 8 31.5 19
51011-08-06 8 10 32 19
51011-10-04 10 6 35 22
51011-10-05 10 8 35 22
51011-10-06 10 10 35 22
51011-12-05 12 8 35 22
51011-12-06 12 10 35 22
51011-14-06 14 10 35 22
51011-14-08 14 12 35.5 22
51011-16-06 16 10 35 22
51011-16-08 16 12 36 22
51011-16-10 16 16 36.5 22
51011-16-12 16 20 38 22
51011-18-12 18 20 41.5 24
51011-22-12 22 20 45 28
51011-22-14 22 22 45 28
51011-28-16 28 25 49 30
51011-34-20 34 32 53 33
51011-42-24 42 40 57 35

B LR AT IR e 20 R AR T S1012-x0xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS510 12-XX -XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

51091

90" B FRAP

90°BSP STANDARD PIPE

g 9 D ﬁ iir R 7]
S F = f A C H
51091 -06-04 6 6 04 30.5 19 | 425
51091 -06-06 6 10 06 35.3 19 | 47.8
51091 -08-04 8 6 04 30 19 | 425
51091 -08-05 8 05 33 19 45.5
51091 -10-04 10 6 04 30 2 | 455
51091 -10-06 10 10 06 35.8 22 | 50.8
51091 -12-06 12 10 06 353 | 22 | 508
51091 -12-08 12 12 08 41 2 56
51091 -14-06 14 10 06 353 | 22 | 508
51091 -14-08 14 12 08 41 2 56
51091-15-10 15 16 10 565 | 26 | 64.5
51091 -16-08 16 12 08 42 2 56
51091-16-10 16 16 10 565 | 22 | 60.5
51091 -18-10 18 16 10 565 | 24 | 625
51091-18-12 18 20 12 649 | 24 72
51091 -22-14 22 2 14 712 | 28 77
51091-28-16 28 25 16 767 | 30 | 835
51091 -34-20 34 32 20 91.5 | 33 | 975
51091 -42-24 42 40 24 109.4 | 35 113

=L R R ;ﬂ;ﬁlﬁg‘f o2 O[lﬁE'Jj ;@‘;‘#Zﬁgfﬁ 3 Y2 51092-XX-XX °

NOTE :1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES

SERIES NUMBER IS 51092-XX-XX.

, HOSE FITTING

45



’Eﬂf}% -~ HOSE FITTING

C
¥
NL
i NS
RETAINING NUT L.T.
E o
I Bz E TN F H ~] ENIEy
C D $2 MPa

NL-12 MI12X1.5 6 14.5 6 14

NL-14 M14X1.5 14.5 17

NL-16 MI16X1.5 10 15.5 10 19

NL-18 MISX1.5 12 15.5 12 2

NL-22 M22X1.5 15 17 15 27

NL-26 M26X1.5 18 18 18 32 F ]
NL-30 M30X2 2 20 2 36 L
NL-30D M30X1.5 2 19 2 36

NL-36 M36X2 28 21 28 41
NL-36D M36X1.5 28 21 28 41

NL-45 M45X2 35 2 35 50
NL-45D M45X1.5 35 25 35 50

NL-52 M52X2 ) 2% 0 60

NS-14 M14X1.5 6 16.5 6 17

NS-16 MI16X1.5 16.5 19

NS-18 MISX1.5 10 17.5 10 2

NS-20 M20X1.5 12 17.5 12 24

NS-22 M22X1.5 14 20.5 14 27 fir =l
NS-24 M24X1.5 16 20.5 16 30 S
NS-30 M30X2 20 2 20 36

NS-36 M36X2 25 27 25 46

NS-42 M42X2 30 29 30 50

NS-52 M52X2 38 32.5 38 60




ﬁ’ ”E[T}%J\ HOSE FITTING

. 12211
) o/ BSP MALE O-RING SEAL
T A 0 S

©OH | gt D r W 0 N

SFE = # A C H
122 11-04-04 G1/4”X19 6 04 24 11 19
12211-04-06 G1/47X19 10 06 23.5 11 19
12211-06-06 G3/87X19 10 06 26 12 22
122 11-08-04 G1/2X14 6 04 33.5 14 27
122 11-08-06 G1/27X14 10 06 33.5 14 27
12211-08-08 G1/27X14 12 08 30 14 27
12211-10-10 G5/87X14 16 10 34 15.5 30
12211-12-10 G3/4°X14 16 10 35 15.5 32
12211-12-12 G3/47X 14 20 12 35 15.5 32
12211-12-16 G3/4°X14 25 16 36 15.5 32
12211-16-16 G17X11 25 16 41 18.5 41
12211-20-20 G1.1/47X11 32 20 45 20 50

[E M b SR R TEAL LN L2 MGTE'Jj ELE (R RN 8 Yo 12212-XX-XX

NOTE :1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 12212-XX-XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

4
L O
. %ﬁ% 12611
. =]
' AL BSP MALE 60°CONE SEAT
FATHERY 607 [

SR 9t D o w o
SR E FH A C S

12611-02-03 G1/87X28 5 03 22 10 12
126 11-04-04 G1/4°X19 6 04 24 12 14
126 11-06-05 G3/87X19 8 05 26 13.5 17
126 11-06-06 G3/87X19 10 06 26 13.5 17
126 11-06-08 G3/8”X19 12 08 26.5 13.5 19
126 11-08-06 G1/2X14 10 06 30.5 16 22
126 11-08-08 G1/2°X14 12 08 30.5 16 22
12611-10-08 G5/87X14 12 08 32.5 17.5 24
12611-10-10 G5/87X14 16 10 34 17.5 24
12611-12-08 G3/47X 14 12 08 35.5 18.5 27
12611-12-10 G3/47X14 16 10 37 18.5 27
12611-12-12 G3/47X14 20 12 36 18.5 27
12611-16-12 G17X11 20 12 40.5 20.5 36
12611-16-16 G17X11 25 16 42.5 20.5 36
12611-20-16 G1.1/47X11 25 16 43.5 20.5 46
126 11-20-20 G1.1/47X11 32 20 44.5 20.5 46
126 11-24-20 G1.1/2”X11 32 20 49 23 50
126 11-24-24 G1.1/27X11 40 24 49 23 50
126 11-32-32 G27X11 50 32 54.5 25.5 65

oL PR R T 2

NOTE : 1.

f/[I:FxllJ—“EIJJ @érlﬁﬁl—& )

FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS126 12-XX-XX.

2.

Y 12612-XX-XX °
IF USE WITH SPIRAL HOSES

s

48



ﬁ’ ”E[T}%J\ HOSE FITTING

4 12611A
C
1, AT ey e
S| [ FERIZ SRR
- _ I BSP MALE DOUBLE USE FOR 60°CONE SEAT
OR BONDED SEAL
FoH T D g S
SENE o A C S1
126 11A-02-03 G1/8”X28 5 03 2 10 14
126 11A-04-04 G1/47X19 6 04 25 12 19
126 11A-04-05 G3/8”X19 8 05 25 12 19
126 11A-06-05 G3/8”X19 8 05 26 | 135 | 22
126 11A-06-06 G3/8”X19 10 06 275 | 135 | 22
126 11A-06-08 G3/8”X19 12 08 285 | 135 | 22
126 11A-08-06 G1/2°X 14 10 06 33 16 | 27
126 11A-08-08 G1/2°X14 12 08 32 16 | 27
126 11A-08-10 G1/2°X 14 16 10 32 16 27
126 11A-10-08 G5/87X 14 12 08 35 | 175 | 30
126 11A-10-10 G5/87X 14 16 10 36 | 175 | 30
126 11A-12-08 G3/47X 14 12 08 365 | 185 | 32
126 11A-12-10 G3/47X 14 16 10 375 | 185 | 32
126 11A-12-12 G3/47X 14 20 12 38 | 185 | 32
126 11A-16-12 G17X11 20 12 425 | 205 | 41
126 11A-16-16 G17X11 25 16 43 | 205 | 41
126 11A-20-16 G1.1/47X11 25 16 455 | 205 | 50
126 11A-20-20 G1.1/47X11 32 20 455 | 205 | 50
126 11A-24-24 G1.127X11 40 24 50 23 55
126 11A-32-32 G27X11 50 32 545 | 255 | 70
B M b AR ﬂ iy 2 f/[ﬁ“ |7 PG AT F) Yo 12612A-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 126 12A-XX-XX.

’

49



ﬁ’ ”EIT}%J\ HOSE FITTING

S

\\5‘%\‘1\
/m (i o B

— S

J

HOSE FITTINGS SERIES NUMBER IS 226 12-XX -XX.

22611 22611-T 22611-W
FORT Rz 60 7 IR
BSP FEMALE 60°CONE

S B9 D 7 AR
wE | F B Al c =

22611-02-03 G1/87X28 5 03 15 5.5 14
226 11-02-04 G1/87X28 6 04 17.5 5.5 14
226 11-04-03 G1/47X19 5 03 17 5.5 19
22611-04-04 G1/4°X19 6 04 19 5.5 19
22611-04-05 G1/4°X19 8 05 19 5.5 19
22611-04-06 G1/4°X19 10 06 19 5.5 19
22611-06-04 G3/87X19 6 04 21 6.3 22
22611-06-05 G3/87X19 8 05 21 6.3 22
22611-06-06 G3/87X19 10 06 21 6.3 22
22611-06-08 G3/87X19 12 08 21.5 6.3 22
226 11-08-06T G1/27X14 10 06 21 7.5 27
22611-08-08 G1/2°X14 12 08 23 7.5 27
22611-10-08 G5/87X14 12 08 23.5 9.5 30
226 11-10-10 G5/87X14 16 10 24.5 9.5 30
226 11-12-08T G3/47X14 12 08 22 10.9 32
22611-12-10 G3/4°X14 16 10 24.5 10.9 32
226 11-12-12 G3/47X14 20 12 24.5 10.9 32
22611-16-12T GI7X11 20 12 24 11.7 41
226 11-16-14 G17X11 22 14 26 11.7 41
226 11-16-16 GI7X11 25 16 27.5 11.7 41
22611-20-16T GL.1/47X11 25 16 27.5 11 50
22611-20-20W G1.1/47X11 32 20 30.5 11 50
226 11-24-20T G1.1/27X11 32 20 32 13 55
22611-24-24W G1.1/27X11 40 24 32 13 55
22611-32-24T G27X11 40 24 30 16 70
226 11-32-32W G27X11 50 32 31.9 16 70

LR T BT 2 WA AR E Y 22612-xexx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

50



ﬁ ”E{T}%J\ HOSE FITTING

L. A
| /'ﬁ-lj7 L P )
g@w | T 22611D
B i, E'Iv E‘E 60 ° 7+ PD"/’—f EJ
BSP FEMALE 60°CONE DOUBLE HEXAGON
H VI E D B N

AR e A C S 82
226 11D-04-04 G1/47X19 6 04 24.5 5.5 19 19
226 11D-06-06 G3/87X19 10 06 27 6.3 22 22
226 11D-08-08 G1/27X14 12 08 30.5 7.5 27 27
226 11D-10-08 G5/87X14 12 08 31 9.5 30 30
226 11D-12-08 G3/47X 14 12 08 315 10.9 32 32
226 11D-12-12 G3/4°X14 20 12 34.5 10.9 32 32
22611D-16-16 G17X11 25 16 38.5 11.7 41 41
22611D-20-20W | G1.1/4”X11 32 20 44 11 50 50

L EASE AT G . 2 R SR Y 22612D00xx e
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 226 12D-XX-XX.

Lo ;!
| I&J/'_’ i i s
5 22611D-SM
s I
bl z e A TS =
g FOAT R 607 JREFITA
BSP FEMALE 60°CONE DOUBLE HEXAGON
T e N < 3
DEN = A C Sl S2
226 11D-04-04SM G1/47X19 6 04 23.5 5.5 12 19
226 11D-06-06SM G3/8”X19 10 06 24.5 6.3 17 22
226 11D-08-08SM G1/27X14 12 08 29 7.5 22 27
226 11D-10-08SM G5/87X 14 12 08 29 9.5 22 30
22611D-12-08SM G3/47X14 12 08 31.5 10.9 27 32
22611D-12-12SM G3/47X14 20 12 33.5 10.9 27 32
22611D-16-16SM G17X11 25 16 35.5 11.7 32 41
226 11D-20-20SM G1.1/4”X11 32 20 42 11 41 50
B LR R e 20 IR SRR T 22612D-xx-xxSM ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER IS 226 12D-XX-XX SM.




ﬁ ”ET}%J\ HOSE FITTING

22641 22641-T 22641-W
457 FUET MY 607 o

45°BSP FEMALE 60°CONE

RN 0 T o N S i =3
VRN = A C H S2
22641 -04-04 G1/47X19 6 04 40 55 21 19
22641 -06-04 G3/87X19 6 04 432 | 6.3 21 22
22641 -06-05 G3/8"X19 8 05 453 | 63 22 22
22641 -06-06 G3/8”X19 10 06 47 6.3 24 22
22641 -08-06T G1/27X 14 10 06 48.1 | 75 | 239 | 27
22641-08-08 G1/27X 14 12 08 59.5 | 15 27 27
22641-10-08 G5/87X 14 12 08 614 | 95 | 265 30
22641 -10-10 G5/87X 14 16 10 63 9.5 29 30
22641-12-08T G3/47X 14 12 08 61.8 | 109 | 269 | 32
22641-12-10 G3/47X 14 16 10 63 | 109 | 29 32
22641 -12-12 G3/47X 14 20 12 755 | 109 | 32 32
22641-16-12T G17X11 20 12 80.8 | 11.7 | 334 | 41
22641 -16-16 G17X11 25 16 86 | 11.7 | 34 41
22641 -20-16T G1.1/47X11 25 16 85.3 11| 311 50
22641-20-20W G1.1/47X11 32 20 98.8 11 38 50
22641-24-24W G1.127X11 40 24 1168 | 13 | 455 55
22641-32-32W G27X11 50 32 1357 | 16 | 527 70
I U b S e b ﬂ&'ﬁ'ﬁ‘f 2. i/[l%‘TE'JJ ELE (R R Yo 22642-Xx-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 22642-XX -XX.

52



ﬁ ”ETT%J\ HOSE FITTING

pa

it

22691-T 22691-W
907 T HHEY 60
=i
90°BSP FEMALE 60°CONE
AR AL W S
AT = H A |C H 2
22691-02-03 G1/87X28 5 03 26.5 5.5 31.5 14
22691 -02-04 G1/87X28 6 04 27.5 5.5 35.5 14
22691 -04-03 G1/47X19 5 03 26.5 5.5 33.5 19
22691 -04-04 G1/4”X19 6 04 27.5 5.5 37 19
22691 -04-05 G1/47X19 8 05 31 5.5 41.5 19
22691 -04-06 G1/4°X19 10 06 30 5.5 36.5 19
22691 -06-04 G3/87X19 6 04 27.5 6.3 39 22
22691 -06-05 G3/8”X19 8 05 31 6.3 43.5 22
22691 -06-06 G3/87X19 10 06 33 6.3 44.5 22
22691 -08-06T G1/27X14 10 06 35.3 7 43.3 27
22691 -08-08 G1/27X14 12 08 42.5 7.5 53 27
22691-08-10 G1/27X14 16 10 56.5 7.5 55.5 27
22691 -10-08 G5/87X14 12 08 42.5 9.5 53.5 30
22691-10-10 G5/87X14 16 10 48.5 9.5 58 30
22691-12-08T G3/47X14 12 08 41 10.9 52.1 32
22691-12-10 G3/47X 14 16 10 48.5 10.9 58 32
22691-12-12 G3/47X14 20 12 50.5 10.9 66 32
22691-16-12T G17X11 20 12 65.5 11.7 68.3 41
22691-16-14 G17X11 22 14 71.2 11.7 69.3 41
22691-16-16 G17X11 25 16 66 11.7 78.5 41
22691-20-16T G1.1/47X11 25 16 78 11 69.5 50
22691 -20-20W G1.1/47X11 32 20 91.5 11 84.3 50
22691 -24-24W G1.1/27X11 40 24 109.4 13 103 55
22691 -32-32W G27X11 50 32 131.8 16 123.3 70
el W aE | ﬂ ﬁ E' 2. (/[l—ﬁl—“ﬁ' |2 J’E“l‘*ﬁ AV ) Mo 22692 -xx-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 226 92-XX -XX.

53



ﬁﬁ{’ ”ET}%J\ HOSE FITTING

22691 K

BSP FEMALE CONE DOUBLE HEXAGON
90 ° I ﬁ@f’y[‘”ﬁ%@? 60 © PR

BB | FEAED [} R

DR E £ f A C H S1 S2
22691 K-04-04 G1/47X19 6 04 175 | 55 | 185 11 19
22691 K-06-04 G3/8”X19 6 04 20 6.3 24 16 22
22691 K-06-05 G3/8”X19 8 05 20 6.3 24 16 2
22691 K-06-06 G3/8”X19 10 06 20 6.3 24 16 22
22691 K-08-06 G1/27X14 10 06 23 75 | 285 19 27
22691 K-08-08 G1/27X 14 12 08 235 | 75 | 285 19 27
22691 K-10-10 G5/8”X 14 16 10 245 | 9.5 | 305 2 30
22691 K-12-12 G3/47X 14 20 12 275 | 10.9 33 27 32
22691 K-16-16 G17X11 25 16 43 11.7 | 385 33 41

ELR RO G 2 T AT Y 22692Kexexx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 226 92K-XX -XX.




# -~  HOSE FITTING

U

4

[
S

-,

A

==

HLBLHJJUUUULLL_ e 4 J AT @d|||JJLIHILLI__
™ e e
22111 22111-T 22111-W
SR B SR
BSP FEMALE MULTISEAL
R [FEA B R
DR E = A C S2
22111-02-04 G1/87X28 6 04 19 2 14
22111-04-03 G1/47X19 5 03 19 4 19
22111-04-04 G1/47X19 6 04 20.5 4 19
22111-06-05 G3/8”X19 8 05 20 5 22
22111-06-06 G3/8”X19 10 06 22.5 5 22
22111-06-08 G3/8”X19 12 08 21 5 22
22111-08-06T G1/2°X 14 10 06 22.5 6 27
22111-08-08 G1/2°X 14 12 08 25.5 6 27
22111-08-10 G1/2°X 14 16 10 24 6 27
22111-10-10 G5/8”X 14 16 10 26 8 30
22111-10-12 G5/8”X 14 20 12 25 8 30
22111-12-08T G3/4”X 14 12 08 25 9.5 32
22111-12-10 G3/47X 14 16 10 26 9.5 32
22111-12-12 G3/4X 14 20 12 26 9.5 32
22111-16-12T G1”X11 20 12 26.5 11 41
22111-16-14 GI1”X11 22 14 26.5 11 41
22111-16-16 G1”X11 25 16 28.5 11 41
22111-20-16T G1.1/47X11 25 16 27.5 11 50
22111-20-20W G1.1/47X11 32 20 31.5 10 50
22111-24-24W G1.1/27X11 40 24 37 11.5 55
22111-32-32W G2”X11 50 32 34 15 70
PR =t I’A.JH B &tj ﬁ F{, 0 i/[lﬁzﬂ &@“A«ﬁt« F"l [Juﬂ Yo 229212 -XX-XX ©

NOTE :

1. FOR USE WITH BRAIDED HOSES

NUMBER IS 22212 -XX-XX.

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

55




ﬁ’ ”EIT}%J\ HOSE FITTING

22141 22141-T 22141-W
457 O BHE R
45°BSP FEMALE MULTISEAL
rE iz E B f A
SURRN ¥  E A C H S2
22141-02-04 G1/87X28 6 04 43.7 2 21.6 14
22141-04-03 G1/47X19 5 03 413 4 | 204 19
22141-04-04 G1/47X19 6 04 43.7 4 | 216 19
22141 -06-05 G3/8"X19 8 05 46.2 5 | 229 | 2
22141-06-06 G3/87X19 10 06 48.1 5 239 | 22
22141-06-08 G3/8”X19 12 08 60.4 5 254 | 22
22141-08-04T G1/27X 14 6 04 43.9 6 | 238 | 27
22141-08-06T G1/27X 14 10 06 42.5 6 182 | 27
22141-08-08 G1/27X 14 12 08 61.8 6 | 208 | 27
22141-08-10 G1/27X 14 16 10 73 6 29 27
22141-10-10 G5/87X 14 16 10 73.7 8 289 | 30
22141-10-12 G5/87X 14 20 12 79.8 8 32.5 30
22141-12-08T G3/47X 14 12 08 632 | 95 | 283 32
22141-12-10 G3/47X 14 16 10 704 | 95 | 29.6 | 32
22141-12-12 G3/47X 14 20 12 80.6 | 95 | 332 | 32
22141-16-12 G17X11 20 12 81.6 11 ]335 | 41
22141-16-14 G17X11 22 14 83.3 11 33 41
22141-16-16 G17X11 25 16 89.2 11 35 41
22141-20-16T | G1.1/47X11 25 16 91.4 | 9.1 | 371 50
22141-20-20W | G1.1/4”X11 32 20 1029 | 10 | 41.2 | 50
22141-24-24W | GL.1/27X11 40 24 119.8 | 11.5 | 49 55
22141-32-32W G2"X11 50 32 137.4 | 15 53 70
oL B RE AT AR e 2 IR AR T 22142 exx
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 18221 42-XX -XX.

56



ﬁ ”EIT}%J\ HOSE FITTING

22191-W
90 7 T MEEY S

90°BSP FEMALE MULTISEAL

o Bz E oW R
SR E = # A C H S2
22191-02-04 G1/87X28 6 04 30 2 38 14
22191-04-03 G1/4°X19 5 03 27 4 35 19
22191 -04-04 G1/4°X19 6 04 30 4 38 19
22191-04-05 G1/4°X19 8 05 33 4 41.5 19
22191-06-05 G3/87X19 8 05 33 5 42 22
22191-06-06 G3/87X19 10 06 353 5 443 22
22191-06-08 G3/87X19 12 08 41 5 50 22
22191 -08-06T G1/27X14 10 06 353 6 46.8 27
22191 -08-08 G1/27X14 12 08 41 6 52.5 27
22191-10-10 G5/87X14 16 10 56.5 8 57.5 30
22191-10-12 G5/87X14 20 12 65.5 8 67 30
22191-12-08T G3/47X14 12 08 41 9.5 52 32
22191-12-10 G3/47X14 16 10 56.5 9.5 58.5 32
22191-12-12 G3/47X14 20 12 65.5 9.5 68 32
22191-16-12T GI7X11 20 12 66.2 11 68.5 41
22191-16-14 GI7X11 22 14 71.2 11 69.5 41
22191 -16-16 GI17X11 25 16 76.7 11 75 41
22191-20-16T G1.1/47X11 25 16 76.7 10 78 50
22191-20-20W | G1.1/4”X11 32 20 92.3 10 85.3 50
22191-24-24W | G1.1/2”X11 40 24 109.4 11.5 108 55
22191 -32-32W G27X11 50 32 133.1 | 15 123.8 70
‘Ei I*ﬂ B atJ ﬁ F“ o 2. WI%H 3 Jmfflﬁ l* ﬂ Mg 22192 -XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 22192-XX -XX.

57



ﬁﬁ{’ ”ET}%J\ HOSE FITTING

A 13011-SP
P SR RV
LT
%ﬂiﬂ BSP MALE

f [BlzV E il i A ol
SN E £ f A C S1

13011-02-03SP | R1/8"X28 5 03 2 10 12
13011-02-04SP | R1/87X28 6 04 25 | 10 12
13011-04-04SP | R1/4”X19 6 04 27 | 145 | 14
13011-04-05SP | R1/4”X19 8 05 25 | 154 | 14
13011-04-06SP | R1/47X19 10 06 27 | 145 | 17
13011-06-04SP | R3/8”X19 6 04 275 | 15 17
13011-06-05SP | R3/8”X19 8 05 26.5 15 | 17
13011-06-06SP | R3/8”X19 10 06 27.5 5 | 17
13011-06-08SP | R3/8”X19 12 08 30 15 | 19
13011-08-06SP | R1/2”X14 10 06 45 [ 20 | 22
13011-08-08SP | R1/2"X14 12 08 35 20 | 22
13011-08-10SP | R1/2”X14 16 10 38 20 | 2
13011-08-12SP | R1/2"X14 20 12 38 20 | 27
13011-12-08SP | R3/4”X14 12 08 37 20 | 27
13011-12-10SP | R3/4”X14 16 10 38 20 | 27
13011-12-12SP | R3/4”X14 20 12 385 | 20 27
13011-12-16SP | R3/4”X 14 25 16 39.5 | 20 32
13011-16-12SP RI7X11 20 12 44 | 255 | 36
13011-16-16SP RI7X11 25 16 45 | 255 | 36
13011-20-20SP | R1.1/4"X11 32 20 49.5 | 265 | 46
13011-24-24SP | R1.1/2X11 40 24 525 | 265 | 50
130 11-32-24SP R27X11 40 2 57 |30 65
13011-32-32SP R27X 11 50 ) 59 |30 65

PEl W u ak R "j/ U Fh 2. f/U%TE'Jj i@’é#ﬁﬁ[‘“ﬂ Yo 13012-xx-xxSP ©
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING

SERIES NUMBER IS 13012-XX-XXSP.

58



ﬁ’ ”EIT}%J\ HOSE FITTING

—

I

14211

= & %‘Lﬁjﬂ ORFS JHEEV T =1 0 75!

ISO 8434-3—SAE J1453
51 ORFS MALE O-RING SEAL
o KV E il i 0 i ! ~
SRR = A |C S1
14211-04-04 9/16”X18 6 04 0011 223 | 9.8 17
14211-06-04 11/167X16 6 04 0012 242 | 112 | 19
142 11-06-06 11/167X16 10 06 0012 242 | 112 | 19
14211-08-06 13/16”X 16 10 06 0014 268 | 128 | 22
142 11-08-08 13/16”X 16 12 08 0014 273 | 128 | 22
14211-08-10 13/16"X 16 16 10 0014 285 | 128 | 22
14211-10-08 1"X 14 12 08 0016 31,5 | 155 | 27
14211-10-10 1”X 14 16 10 0016 33 | 155 | 27
14211-12-08 1.3/16”X 12 12 08 0018 36.5 17 | 32
14211-12-10 1.3/167X12 16 10 0018 36 17 | 32
14211-12-12 1.3/167X12 20 12 0018 36.5 17 | 32
14211-16-12 1.7/167X12 20 12 0021 37 | 175 | 38
14211-16-16 1.7/167X12 25 16 0021 39.5 | 17.5 | 38
14211-20-20 1.11/167X12 32 20 0025 415 | 175 | 46
14211-24-24 27X12 40 24 0029 445 | 175 | 55
JE U b R ﬂ;'ﬁ'ﬁ'{ 2. i/p:ﬁ‘TE'P ELE (G R Yo 14212-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 14212-XX-XX.




ﬁ’ ”E[T}%J\ HOSE FITTING

Lo

A

C A C 4
,{I | > | 4 2 | ,,,LI 2 ‘|
! ) *| | o ]
o _
24211 24211-T 24211-W
Zfll ORFS [*|fRizv =
ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516
©H iz E B N
SENF E | A H S2
242 11-04-04 9/167X18 6 04 25.5 8.5 19
242 11-04-05 9/16”X18 8 05 22.5 8.5 19
242 11-04-06 9/16”X18 10 06 22.5 8.5 19
242 11-06-04T 11/16”X 16 6 04 23.5 10 22
24211-06-05T 11/167X16 8 05 23.5 10 22
242 11-06-06 11/16”X16 10 06 26.5 10 22
242 11-06-08 11/167X16 12 08 26 10 22
242 11-08-05T 13/167X16 8 05 25 11 27
24211-08-06T 13/16X16 10 06 24.5 11 27
242 11-08-08 13/167X16 12 08 28 11 27
24211-08-10 13/167X16 16 10 29 11 27
242 11-10-08T 17X 14 12 08 29 13.5 30
24211-10-10 1”X14 16 10 34 13.5 30
242 11-10-12 17X 14 20 12 34 13.5 30
24211-12-08T 1.3/167X12 12 08 30.5 15 36
24211-12-10T 1.3/167X12 16 10 32.5 15 36
24211-12-12 1.3/167X12 20 12 36.5 15 36
242 11-12-16 1.3/167X12 25 16 36 15 36
24211-16-12T 1.7/167X12 20 12 32,5 14.8 41
242 11-16-14T 1.7/167X12 22 14 35 14.8 41
24211-16-16T 1.7/167X12 25 16 34.3 14.8 41
242 11-16-20 1.7/167X12 32 20 39.5 14.8 41
24211-20-16T 1.11/167X12 25 16 34.5 15 50
242 11-20-20W 1.11/16”X12 32 20 42.5 15 50
24211-20-24W 1.11/167X12 40 24 42.5 15 50
242 11-24-20T 27X12 32 20 36 14.8 60
24211-24-24T 27X12 40 24 37.2 14.8 60

Eg i ol SRt e TEA 18

NOTE : L

2.

I AT
FOR 'USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER 18242 12-XX -XX

2.

Y 24212-XX-XX ©

IF USE WITH SPIRAL HOSES

s

60



ﬁ’ ”EIT}%J\ HOSE FITTING

24291 24291-T 24291-W
90 ° % ORES [N
90°ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516

o B2 E A S
SRR = A H C S2
24291-04-04 9/16”X18 6 04 27.5 43.5 8.5 19
24291-04-05 9/16”X18 8 05 33 44 8.5 19
24291-06-05T 11/16”X16 8 05 33 37.5 10 22
24291-06-06 11/16”X16 10 06 33 50 10 22
24291-08-08 11/16”X16 12 08 42.5 55 10 22
24291-08-06T 13/167X16 10 06 353 39.8 11 27
24291-08-08 13/167X16 12 08 41 58 11 27
24291-08-10 13/167X16 16 10 56.5 61.5 11 27
24291-10-08T 17X14 12 08 41 46 13.5 30
24291-10-10 1”X14 16 10 48.5 67.5 13.5 30
24291-10-12 17X14 20 12 50.5 75.5 13.5 30
24291-12-10T 1.3/167X12 16 10 56 51.5 15 36
24291-12-12 1.3/167X12 20 12 65.5 78 15 36
24291-12-16 1.3/167X12 25 16 76.7 83.5 15 36
24291-16-12T 1.7/167X12 20 12 65.5 63 14.8 41
24291-16-14T 1.7/167X12 22 14 71.2 63 14.8 41
24291-16-16T 1.7/167X12 25 16 76.9 67.5 14.8 41
24291-20-16T 1.11/167X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/167X 12 32 20 93 100 15 50
24291-24-20T 27X12 32 20 91.5 78.5 14.8 60
24291-24-24T 27X12 40 24 109.4 92 14.8 60

ki Wb ucy ok IRl B E] VR f/[[ﬁ“ |7 Ay RS Yo 24292 -xX-XX °

NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES HOSE

FITTINGS SERIES NUMBER IS 242 92-XX-XX.

i




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

15611

S S

NPT MALE

o ES i N
SRR = A C S

156 11-02-03 Z1/87X27 5 03 21,5 | 105 12
156 11-02-04 Z1/87X27 6 04 225 | 105 12
156 11-04-03 Z1/47X18 5 03 27 |15 17
156 11-04-04 Z1/47X18 6 04 275 | 15 17
156 11-04-05 Z1/47X18 8 05 275 | 15 17
156 11-04-06 Z1/47X18 10 06 215 | 15 17
156 11-06-04 Z3/8”X18 6 04 29 |16 19
156 11-06-05 Z3/8”X18 8 05 29 |16 19
156 11-06-06 Z3/87X18 10 06 29 16 19
156 11-06-08 Z3/8”X18 12 08 29.5 16 19
156 11-08-06 Z1/27X14 10 06 335 | 19.5 2
156 11-08-08 Z1/27X14 12 08 34 195 2
156 11-08-10 Z1/27°X14 16 10 355 | 19.5 2
156 11-12-08 Z3/4X 14 12 08 37 195 27
156 11-12-10 73/47X 14 16 10 37 1195 27
156 11-12-12 Z3/47X 14 20 12 385 | 19.5 27
156 11-12-16 Z3/47X 14 25 16 39.5 | 19.5 32
15611-16-10 Z1”X11.5 16 10 45 | 255 36
156 11-16-12 Z17°X11.5 20 12 45 | 255 36
156 11-16-16 Z1”X11.5 25 16 475 | 255 36
15611-20-16 | Z1.1/4”X11.5 25 16 49 | 265 46
15611-20-20 | Z1.1/4”X11.5 32 20 50.5 | 26.5 46
15611-24-24 | Z1.1/2”X11.5 40 24 53.5 | 275 50
156 11-32-32 227°X11.5 50 32 56.5 | 27.5 65

BB PR IR 2 WP AR 156120xxx e
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 156 12-XX-XX.

62



ﬁ’ ”EIT}%J\ HOSE FITTING

" 16011
| ;%W %‘;ﬁjﬂ SAE ¥ f!'E,lfWﬁj 0 g
=
_JD* JJ—H—M—H—U—/ SAE O-RING SEAL
S1 ISO 11962-SAE J1926
o H fEzv E Al i 0 sl R 7]
DENE = f A C S1
16011-04-04 7/167X20 6 04 0904 205 |91 | 14
16011-05-04 1/27X20 6 04 0905 205 (91 | 17
16011-06-05 9/16X 18 8 05 0906 25 (99 | 17
16011-06-06 9/16"X 18 10 06 0906 25 (99 | 17
16011-08-06 347X 16 10 06 0908 235 |11 | 22
16011-08-08 347X 16 12 08 0908 u 111 ] 2
16011-10-08 7/8”X 14 12 08 0910 30 | 127 | 27
16011-10-10 7/8”X 14 16 10 0910 31 127 | 27
16011-12-10 | 1.1/167X12 16 10 0912 34| 151 | 32
16011-12-12 | L1/16”X12 20 12 0912 3| 151 | 32
16011-16-16 | 1.5/16”X12 25 16 0916 36 | 151 | 38

[E N ) b SR e TEAL 1 (R i/[lﬁ‘TE'Jj MEpFEE Y 16012-xx-xx
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 160 12-XX -XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

A
[
b
| 7 16711L
.
z"@é | HILIEELE T 31C 74°MALE CONE SEAL LONGER
s! S IIC SR T4 9
RIS R A ] A
SR E = F A C Sl
167 11L-04-04 7/167X20 6 04 43 30.5 17
167 11L-05-04 1/27X20 6 04 43 30.5 19
16711L-05-05 1/27X20 8 05 43 30.5 19
167 11L-06-04 9/16”X18 6 04 47 32.5 22
16711L-06-05 9/16”X18 8 05 47 32.5 22
167 11L-06-06 9/16”X18 10 06 47 32.5 22
16711L-08-06 3/4”X16 10 06 51 36.5 24
16711L-08-08 3/4”X 16 12 08 51.5 36.5 24
16711L-10-06 7/87°X 14 10 06 56.5 40 30
167 11L-10-08 7/8°X 14 12 08 57 40 30
16711L-10-10 7/8°X14 16 10 58 40 30
167 11L-12-08 1.1/167X12 12 08 63 44.5 36
16711L-12-10 1.1/167X12 16 10 64 44.5 36
16711L-12-12 1.1/16”X12 20 12 64 44.5 36
16711L-16-12 1.5/16”X 12 20 12 66 44.5 41
16711L-16-16 1.5/16”X12 25 16 67 44.5 41
16711L-20-16 1.5/87X12 25 16 70.5 45.7 50
167 11L-20-20 1.5/87X12 32 20 71.2 45.7 50
16711L-24-20 1.7/87X12 32 20 71.5 46 55
16711L-24-24 1.7/87X12 40 24 71.5 46 55

64



ﬁﬁ{’ ”ET}%J\ HOSE FITTING

A
c 16711
| %///V ” —%‘;'IJ[J TIC GHfpizv 74° 9
< C 74°MALE CONE SEAL
=
@‘é ] I
=1

— TR—
R fgizv E i i J
VRN = f A C S1
167 11-04-03 7/167X20 5 03 26 14 12
167 11-04-04 7/167X20 6 04 26 14 12
16711-05-04 1/27X20 6 04 26 14 14
167 11-05-05 1/27X20 8 05 26 14 14
167 11-05-06 1/27X20 10 06 26.5 14 17
16711-06-04 9/16”X18 6 04 26.6 14.1 17
167 11-06-05 9/167X18 8 05 26.6 14.1 17
167 11-06-06 9/16”X18 10 06 26.6 14.1 17
167 11-08-06 3/4”X16 10 06 30.7 16.7 22
16711-08-08 3/4”X16 12 08 31.2 16.7 22
16711-10-06 7/8°X 14 10 06 34.3 19.3 24
16711-10-08 7/87X 14 12 08 34 19.3 24
16711-10-10 7/8°X 14 16 10 35.8 19.3 24
16711-12-08 1.1/16”X 12 12 08 38.5 21.9 30
16711-12-10 1.1/16”X 12 16 10 39.4 21.9 30
16711-12-12 1.1/16”X 12 20 12 39.4 21.9 30
16711-12-16 1.1/16”X12 25 16 42 21.9 30
16711-14-10 1.3/16”X 12 16 10 41.5 22.6 32
16711-14-12 1.3/16”X 12 20 12 40.5 22.6 32
16711-16-12 1.5/16”X12 20 12 43.6 23.1 36
16711-16-16 1.5/16”X 12 25 16 45.1 23.1 36
16711-20-16 1.5/87X 12 25 16 47 24.3 46
16711-20-20 1.5/87X 12 32 20 48.3 24.3 46
16711-24-20 1.7/87X12 32 20 53 27.5 50
16711-24-24 1.7/87X12 40 24 53.5 27.5 50
16711-32-32 2.1/27X12 50 32 62.9 33.9 65

ELERARH AT AR . 2 W AR
NOTE : 1. FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS 16712-XX -XX.

2.

Y 16712-xX-XX ©

IF USE WITH SPIRAL HOSES ,

65



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

A

2]

: {mlauwmmum 1‘{ ‘_;dﬂjﬂuuuuw
= e KAl TIC JHEREY 747
26711 26711-T JIC FEMALE 74°CONE SEAT
o Y E ¥ S
i o A | c s2
26711-04-03 7/167X20 5 03 14.5 9 15
26711-04-04 7/167X20 6 04 15 9 15
26711-05-04 1/27X20 6 04 16 9.5 17
26711-05-05 1/27X20 8 05 16 9.5 17
26711-05-06 1/27X20 10 06 16.5 9.5 17
26711-06-04 9/16”X18 6 04 16.5 10.5 19
26711-06-05 9/16”X18 8 05 16 10.5 19
26711-06-06 9/16”X18 10 06 16.5 10.5 19
26711-06-08 9/16”X18 12 08 16 10.5 19
26711-08-06 3/4”X 16 10 06 18 11 24
26711-08-08 3/4”X16 12 08 18.5 11 24
26711-08-10 3/47X16 16 10 19.5 11 24
26711-10-08 7/87X 14 12 08 19.5 13 27
26711-10-10 7/87X 14 16 10 20.5 13 27
26711-10-12 7/87°X 14 20 12 20 13 7
26711-12-08T 1.1/16”X12 12 08 19 15 32
26711-12-10 1.1/167X12 16 10 21.5 15 32
26711-12-12 1.1/16”X12 20 12 21.5 15 32
26711-12-16 1.1/16”X12 25 16 23.5 15 32
26711-14-12 1.3/16”X12 20 12 21.5 15 36
26711-16-12T 1.5/16”X12 20 12 18.5 16 41
26711-16-16 1.5/16”X12 25 16 24.5 16 41
26711-16-20 1.5/16”X12 32 20 24 16 41
26711-20-16T 1.5/87X12 25 16 23 17 50
26711-20-20W 1.5/87X12 32 20 26 17 50
26711-24-20W 1.7/87X12 32 20 26.5 20 55
26711-24-24W 1.7/87X12 40 24 26.5 20 55
26711-32-24T 2.1/27X12 40 24 27 235 75
26711-32-32T 2.1/27X12 50 32 27 23.5 75
P LR ORI IR . 20 R SRR Y 26712k

NOTE : L

FOR USE WITH BRAIDED HOSES 2.
FITTINGS SERIES NUMBER IS267 12-XX-XX.

IF USE WITH

SPIRAL HOSES

s

HOSE

66



ﬁ’ ”EIT}%J\ HOSE FITTING

457 il TIC ['fhv
s— LI 747 Y SAE J514
45°JIC FEMALE 74°CONE
SEAT
26741 26741-W
rE BBz E B S
SN E = E A C H S2
26741-04-03 7/16”X20 5 03 37.6 9 172 | 15
26741 -04-04 7/16”X20 6 04 37 9 18 15
26741-05-04 1/27X20 6 04 405 | 95 | 185 | 17
26741-05-05 1/27X20 8 05 415 | 95 20 17
26741-05-06 1/27X20 10 06 44.6 9.5 20.3 17
26741 -06-04 9/16”X18 6 04 405 105 | 185 | 19
26741 -06-05 9/16”X18 8 05 42 [105 | 205 | 19
26741 -06-06 9/16”X18 10 06 44 (105 | 205 | 19
26741 -08-06 3/47X16 10 06 45 11 21.5 24
26741 -08-08 3/47X16 12 08 56.5 | 11 24 24
26741 -10-08 7/8"X 14 12 08 575 |13 246 | 27
26741-10-10 7/8”X 14 16 10 60 |13 26 27
26741-10-12 7/87X14 20 12 75.7 13 28.9 27
26741 -12-08 1.1/16”X12 12 08 58 |15 255 | 32
26741 -12-10 1.1/16”X 12 16 10 60.5 |15 27 32
26741-12-12 1.1/16X12 20 12 73.5 |15 30 32
26741-14-12 1.3/16”X12 20 12 77.4 15 30 36
26741 -16-12 1.5/16”X12 20 12 77.4 | 16 30 41
26741-16-16 1.5/16”X 12 25 16 84 |16 325 | 41
26741 -20-20W 1.5/87X 12 32 20 95.9 | 17 352 | 50
26741 -24-20W 1.7/87X12 32 20 100.9 |20 40.1 | 55
26741 -24-24W 1.7/87X 12 40 24 114.8 |20 44.1 | 55
26741-32-32T 2.1/27X12 50 32 1359 | 235 | 516 | 75
BLER R GG e 2 T SRR 26742 x0xx
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES HOSE

FITTINGS SERIES NUMBER 1526742-XX-XX.

’

67



ﬁ’ ”ET}%J\ HOSE FITTING

907 Sl TIC [']fR=v
747 Y SAE 1514
90°JIC FEMALE 74°CONE

SEAT
26791 26791-W
S BiZV E . N
NN = f A C H S2
26791 -04-03 7/167X20 5 03 26.5 9 30.5 15
26791 -04-04 7/167X20 6 04 275 9 33 15
26791 -05-04 1/2°X20 6 04 275 | 9.5 | 335 17
26791-05-05 1/2°X20 8 05 31 9.5 | 385 17
26791 -05-06 1/27X20 10 06 353 | 95 | 393 17
26791 -06-04 9/167X18 6 04 275 | 105 | 345 19
26791-06-05 9/16”X18 8 05 31 |105 39 19
26791 -06-06 9/16”X18 10 06 33 105 40 19
26791 -06-08 9/167X18 12 08 358 | 105 | 39.8 19
26791 -08-06 3/47X16 10 06 33 |11 415 | 24
26791 -08-08 3/4”X16 12 08 425 |11 485 | 24
26791-08-10 3/47X16 16 10 49 |11 475 | 24
26791-10-08 7/8”X 14 12 08 425 |13 495 | 27
26791-10-10 7/8”X 14 16 10 485 |13 54 27
26791-10-12 7/8”X 14 20 12 505 | 13 62 27
26791-12-08 1.1/167X 12 12 08 425 |15 505 | 32
26791-12-10 1.1/167X12 16 10 485 |15 55 32
26791-12-12 1.1/167X 12 20 12 60.5 | 15 63 32
26791-12-16 1.1/167X 12 25 16 74 |15 63.5 | 32
26791-14-12 1.3/167X12 20 12 655 |15 63.5 | 36
26791-16-12 1.5/16”X12 20 12 655 |16 63.5 | 41
26791-16-16 1.5/167X 12 25 16 66 | 16 755 | 41
26791 -20-20W 1.5/87X12 32 20 91.5 | 17 80.5 | 50
26791 -24-20W 1.7/87X12 32 20 91.5 |20 80.5 | 55
26791 -24-24W 1.7/87X12 40 24 109.4 | 20 94 55
26791-32-32T 2.1/27X12 50 32 133.1 [ 235 | 121.8 | 75
oL B EE AT AR e 2 IR AR T 26792 xx-xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTING S SERIES NUMBER IS 26792-XX -XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

26791K
90 ©  SCfilEy JIC |t R
747 [']FEE SAE 1514
90°JIC COMPACT FEMALE 74° CONE SEAT

S e E i S

X 0E ¥ H A C H| si | s
26791K-04-04 7/167X20 6 04 17.5 9 18 11 15
26791 K-06-04 9/16”X18 6 04 20 10.5 20.5 14 19
26791K-06-06 9/16”X18 10 06 20 10.5 20.5 16 19
26791K-08-06 3/47X16 10 06 23 11 25 19 24
26791 K-08-08 3/4”X16 12 08 23.5 11 25 22 24
26791 K-10-08 7/8”X14 12 08 25 13 27 22 27
26791K-10-10 7/87X14 16 10 25 13 27 22 27
26791 K-12-12 1.1/167X12 20 12 29 15 31 27 32
26791K-16-16 1.5/167X12 25 16 43 16 343 33 41

Pl R R E ?j Ut Fh o2 i/[lﬁT“ ELE i AREa! Yo 26792K-xx-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 18267 92K-XX-XX.

G 17811
WW %‘\ﬁfﬂ SAE 7+ 2V 907 9t
& | MALE 90
¢ | I 0t
i =1
koE b E i v
SRR E = A C S1
17811-04-04 7/16”X20 6 04 25.5 12.7 12
17811-05-05 1/27X20 8 05 27 14.2 14
17811-06-06 5/87X18 10 06 28.5 15.7 17
17811-08-08 3/47X16 12 08 34 19 22
17811-10-10 7/87X14 16 10 38.5 224 24
17811-12-12 1.1/16”X14 20 12 44 254 30
IE W ul b SR Eﬂ/ are 2. f/[lﬁ[,%J:“ ELE TR Yo 17812-xx-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER IS 178 12-XX-XX.




ﬁﬁ{’ ”EITE&J\ HOSE FITTING

27811
il SAE [ |fRizv

(‘%%%%V — 00 ° [ SAE 1513

| SAE FEMALE 90°CONE SEAT

%
-
=

=

=

C

S e fr S
AEmpE | R B A ] cC | w2

27811-04-03 7/16”X20 5 03 14 9 15
27811-04-04 7/167X20 6 04 15 9 15
27811-05-05 1/27X20 8 05 16 9.5 17
27811-06-04 5/87X18 6 04 17 11.3 22
27811-06-05 5/87X18 8 05 17 11.3 22
278 11-06-06 5/87X18 10 06 17 11.3 22
27811-08-08 3/47X16 12 08 18.5 11 24
27811-10-08 7/87X14 12 08 18.5 13 27
27811-10-10 7/87X 14 16 10 20.5 13 27
27811-12-12 1.1/167X 14 20 12 21.5 14.3 32

BLEAREIT SRR 2 W ASEE 7 278120k -

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER 1S278 12-XX -XX.




ﬁﬁ{’ ”EITE&J\ HOSE FITTING

s [ Fmm

\S2

21611
Z{fjl NPSM [*|fRiz
NPSM  FEMALE 60 °

CONE

60 ° 9t SAE 1514

SIS (e ;S o
SR = A B 2
21611-04-04 1/47X18 6 04 18 | 4.6 19
216 11-04-06 1/47X 18 10 06 19 | 46 19
216 11-06-04 3/87X18 6 04 19 6 22
216 11-06-05 3/8”X18 8 05 19 6 22
216 11-06-06 3/87X18 10 06 19 6 22
216 11-08-08 127X 14 12 08 215 |75 27
21611-12-10 3/47X 14 16 10 24 |89 32
21611-12-12 3/47X14 20 12 24 |89 32
21611-16-12T 1”X11.5 20 12 25 | 105 | 41
21611-16-16 1”X1L.5 25 16 27 | 105 | 41
21611-20-20W | L1/4”X1L.5 32 20 205 | 112 | 50
21611-24-24W | L1/2”X1L.5 40 24 205 | 112 | 55
E LR PRI SR e 20 T SR T 21612-x0xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS216 12-XX-XX.

i

71






ﬁﬁ{’ ”EITE&J\ HOSE FITTING

L
S
G

72

=

ji.

.

87312

SAE = 3000PSI
SAE FLANGE 3000 PSI
ISO 12151-3—SAE J516

S B f . w -
ABpE | A lc] b L
87312-08-08 1727 12 08 45.5 30.2 24 6.73
87312-12-08 3/4” 12 08 47.5 38.1 31.7 6.73
87312-12-10 3/4” 16 10 49 38.1 31.7 6.73
87312-12-12 3/4” 20 12 48.5 38.1 31.7 6.73
87312-12-16 3/4” 25 16 49 38.1 31.7 6.73
87312-16-12 1” 20 12 51 44.4 38 8
87312-16-16 17 25 16 438 44.4 38 8
87312-16-20 1” 32 20 53 44.4 38 8
87312-20-16 1.1/4” 25 16 57 50.8 43 8
87312-20-20 1.1/4” 32 20 56 50.8 43 8
87312-24-20 1.1/2” 32 20 68 60.3 50 8
87312-24-24 1.1/2” 40 24 74 60.3 50 8
87312-32-24 27 40 24 70 71.4 62 9.53
87312 -32-32 2” 50 32 70 71.4 62 9.53
87312 -40-40 2.172” 64 40 76 84.1 74 9.53
YL R R ] ;tj gﬁ F“ o 2. wrﬁij E ;;n:,:;;ﬁ Fh' TR Y1 87312 -XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES HOSE

FITTINGS SERIES NUMBER IS 873 12-XX-XX.

b

72



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

g— 87342
7T 45°  SAE = 3000PSI
S0 44 45°SAE FLANGE 3000 PSI
N\ 1SO 12151-3—SAE J516
SRR = S i N
DR = A C D H L
87342 -08-08 127 12 08 56.5 302 | 24 | 235 | 6.73
87342-12-08 3/4” 12 08 589 | 381 | 31.7 | 24 | 6.73
87342 -12-10 3/4” 16 10 69.9 | 38.1 | 31.7 | 25.3 | 6.73
87342 -12-12 3/4” 20 12 73.5 38.1 | 31.7 | 29.5 | 6.73
87342 -16-12 1” 20 12 763 | 444 | 38 | 289 8
87342 -16-16 17 25 16 83. 44.4 | 38 31
87342 -16-20 1” 32 20 945 | 444 | 38 | 33.8 8
87342 -20-16 1.1/4” 25 16 82 50.8 | 43 | 30.5 8
87342 -20-20 1.1/4” 32 20 95 50.8 | 43 36 8
87342 -24-20 1.1/2” 32 20 95.9 |603 | 50 | 35.2 8
87342 -24-24 1.1/2” 40 24 108 60.3 | 50 42 8
87342 -32-24 2” 40 24 109.9 | 71.4 | 62 |39.1 | 9.53
87342 -32-32 27 50 32 1203 | 71.1 | 62 | 43 | 9.53
N Wasuc) b SR ;ﬂéﬁ'ﬁ?’f o2 i/D%TE'Jj E’i’?#lﬁﬁﬂ‘“ aa! Yo 87342 -XxX-XX °
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 873 42-XX-XX.

73



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

E%m

o,

7 _LMJJJJJJJJULLLI

| 4

90 ~

87392

SAE *=

3000PSI

90°SAE FLANGE 3000 PSI

A ISO 12151-3—SAE J516
(2
A F2 A o

DR E L A C D H L

87392 -08-08 1/2” 12 08 42.5 30.2 24 48 6.73
87392 -12-08 3/4” 12 08 42.5 38.1 31.7 50 6.73
87392-12-10 3/4” 16 10 56 38.1 31.7 | 52.5 6.73
87392-12-12 3/4” 20 12 60.5 38.1 31.7 | 62.5 6.73
87392-12-16 3/4” 25 16 76.7 38.1 31.7 | 67.5 6.73
87392-16-12 1” 20 12 65.5 44,4 | 38 62 8
87392 -16-16 1” 25 16 66 44,4 | 38 74 8
87392 -16-20 17 32 20 91.5 44,4 | 38 78.5 8
87392-20-16 1.1/4” 25 16 76.7 50.8 | 43 67.5 8
87392 -20-20 1.1/4” 32 20 75 50.8 | 43 86 8
87392 -20-24 1.1/4” 40 24 107 50.8 | 43 78.5 8
87392 -24-20 1.1/2” 32 20 75 60.3 | 50 90 8
87392 -24-24 1.1/2” 40 24 89 60.3 | 50 102 8
87392 -32-24 27 40 24 109.4 71.4 | 62 94 9.53
87392-32-32 27 50 32 115.5 71.4 | 62 129.5 | 9.53
87392 -40-40 2.1/2” 64 40 131.8 84.1 | 744 | 1163 | 9.53

PEl WU b AR ?ﬂ ﬁ Fh o 2. f/[lﬁT“ "ﬂh‘é"lﬁ (i REa! Y 87392 -xx-XX °

NOTE 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER IS 873 92-XX-XX.

74



ﬁﬁ{’ ”EITE&J\ HOSE FITTING

—

’ gy
G

90 ~

87392-H
SAE 3= 3000PSI

90°SAE FLANGE SPECIAL HEIGHT

rooH TR S I | S i A

A I = F A C D | H L
87392 -12-12(H90) 3/4” 20 12 65.5 38.1 32 90 6.73
87392-12-12(H100) 3/4” 20 12 65.5 38.1 32 100 6.73
87392-12-12(H127) 3/4” 20 12 65.5 38.1 32 127 6.73
87392-12-12(H150) 3/4” 20 12 65.5 38.1 32 150 6.73
87392-16-16(H100) 1’ 25 16 76.7 44.4 38 100 8
87392-16-16(H127) 1’ 25 16 76.7 44.4 | 38 127 8
87392-16-16(H150) 1’ 25 16 76.7 444 | 38 150 8
87392-20-20(H100) 1.1/4” 32 20 91.5 50.8 | 43 100 8
87392-20-20(H157) 1.1/4” 32 20 91.5 50.8 |43 127 8
87392-20-20(H150) 1.1/4” 32 20 91.5 50.8 |43 150 8
87392-24-24(H127) 1.1/2” 40 24 109.4 50.8 | 50 127 8

75



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

FL 3000 PSI HALF FLANGE

FS 6000 PSI HALF FLANGE
SAE M=

©H By o i N
A B D H M N Mpa

300 0PSI

FL-08 1/2” 54 | 456 9 62 | 381 |175 M8 X25

FL-12 3/4” 65 | 51.8 11 | 62 | 476 | 222 | M10X30 345

FL-16 = 70 | 584 | 11 75 | 524 | 262 | M10X30

FL-20 1.1/4” 79 | 726 11| 75 | 587 | 305 | M10X30 27.6

FL-24 1.1/2” o1 | 822 [135 | 75 | 69.9 | 357 | MI2X35 20

FL-32 2” 102 | 964 | 13.5 9 77.8 | 42.9 | M12X35 '

FL-40 2.1/2” 114 | 108.2 | 13.5 9 88.9 | 50.8 | MI12X40 17.2

FL-48 3” 135 | 130.6 | 17.5 9 | 1064 | 61.9 | M16X50 13.8
600 OPSI

FS-08 1127 56 | 472 9 72 | 405 | 182 | M8X30

FS-12 3/4” 71 60 11 82 | 50.8 | 23.8 | M10X35

FS-16 1” 81 | 69.6 | 13.5 9 572 | 27.8 | M12X45 o

FS-20 1.1/4” 95 | 772 | 135 | 98 | 66.6 | 31.8 | MI2X45

FS-24 1.1/2” 13| 95 | 175 | 12 | 793 | 365 | M16X55

FS-32 7" 133 | 113.8 | 22 12 | 968 | 445 | M20X70

76



ﬁﬁ{’ ”EITE&J\ HOSE FITTING

: 87612
% SAE 2 6000PSI

-

\H

D

=
L
E
i

SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

T TR (L S
SR F # A C D | L
87612-08-08 1/2” 12 08 47.5 31.7 24 7.75
87612-12-10 3/4” 16 10 50.5 41.3 32 8.76
87612-12-12 3/4” 20 12 51.5 41.3 32 8.76
87612-16-12 17 20 12 56 47.6 38 9.53
87612-16-16 1” 25 16 52.5 47.6 38 9.53
87612-16-20 1” 32 20 61 47.6 38 9.53
87612-20-16 1.1/4” 25 16 65 54 44 10.29
87612-20-20 1.1/4” 32 20 62 54 44 10.29
87612-24-20 1.1/2” 32 20 75 63.5 51 12.57
87612-24-24 1.1/2” 40 24 79 63.5 51 12.57
87612-32-24 2” 40 24 85 79.4 67 12.57
87612-32-32 2” 50 32 79 79.4 67 12.57

B LSRR BT GIR e 2 IERIT AR EE Y 87612-xkxx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 876 12-XX-XX.




ﬁﬁ{’ ”EITE&J\ HOSE FITTING

A 87642

45° SAE # = 6000PSI
o //_meuuuuup
QY 45° SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

foH gy it 0 D

SFRI = A C D H L
87642-08-08 1727 12 08 57.5 31.7 24 25 7.75
87642-08-12 1/2” 20 12 77 31.7 24 29.6 7.75
87642-12-10 3/4” 16 10 72.5 41.3 32 28.2 8.76
87642-12-12 3/4” 20 12 75.5 41.3 32 32 8.76
87642-16-16 1” 25 16 86 47.6 38 34, 9.53
87642-20-20 1.1/4” 32 20 100 54 44 40 10.29
87642-24-20 1.1/2” 32 20 105.8 63.5 51 45.1 12.57
87642-24-24 1.1/2” 40 24 112 63.5 51 46 12.57
87642-32-24 27 40 24 125.4 79.4 67 54.7 12.57
87642-32-32 27 50 32 143 79.4 67 49 12.57

P LR R 2 G SO " 876420 ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87642-XX-XX.




ﬁﬁ{’ ”EITE&J\ HOSE FITTING

‘_____&__;%Q% [T
fuuw

87692
90 ° SAE

A4

-

6000PSI

90 © SAE FLANGE 6000 PSI

D)
JT%C ISO 12151-3—SAE J516
S A ? =
AR = A C D H L
87692-08-08 127 12 08 425 31.7 24 50 1.75
87692-12-10 3/4” 16 10 56 41.3 32 56.5 8.76
87692-12-12 3/4” 20 12 50.5 413 32 65.5 8.76
87692-16-12 1 20 12 65.5 47.6 38 69 9.53
87692-16-16 1 25 16 66 47.6 38 78 9.53
87692-16-20 1” 32 20 91.5 47.6 | 38 85.5 9.53
87692-20-16 1.1/4” 25 16 76.7 54 44 78.5 10.29
87692-20-20 1.1/4” 32 20 75 54 | 44 92 10.29
87692-24-20 1.1/2” 32 20 91.5 63.5 | 51 94.5 12.57
87692-24-24 1.1/2” 40 24 89 63.5 | 51 107 12.57
87692-32-24 27 40 24 109.4 794 | 67 116 12.57
87692-32-32 27 50 32 115.5 794 | 67 1385 | 12.57
YL R R ] ;tj gﬁ F“ o 2. {/[[%J:FI & ;;n:,f;;ﬁ Fh' TR Y1 87692 -XX -XX °

NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 876 92-XX-XX.

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

79



ﬁﬁ{’ ”EITE&J\ HOSE FITTING

A
B
%W

AT s

60°

S

M-

18611

[k SR 60

JIS METRIC MALE 60°CONE SEAT

L

It

[

S1
S B2 E (L] o

AR £ # A B 81
18611-14-04 M14X1.5 6 04 29.5 17 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 M16X1.5 10 06 30.5 18 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 355 20 24
18611-24-10 M24X1.5 16 10 39.5 21.5 27
18611-30-12 M30X1.5 20 12 455 26 32
18611-33-16 M33X1.5 25 16 50.5 30 36
18611-36-20 M36X1.5 32 20 56.5 33 38
18611-42-24 M42X1.5 40 24 59.5 36 46

Vool bR ) R /J/ U F“ o 2. y[[l%zﬂ |7 ;Bj:;lﬁ A Yo 18612 -xx-XX ©

NOTE : I

FITTINGS SERIES NUMBER IS 186 12-XX-XX.

FOR USE WITH BRAIDED HOSES 2.

IF USE WITH SPIRAL HOSES

b

HOSE

80



F ¥ . HOSE FITTING

PR IR 607 [ S

oo K o Bpe & JIC METRIC FEMALE 60°
/\w% /\ N CONE SEAT
| | & 11
S5 R
28611 28611-W
S Wz E i ® N
SRR = E A B S1 S2
28611-12-14 MI12X1.5 6 04 20 9 17 17
28611-14-04W M14X1.5 6 04 23 10.5 19 19
28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 MI16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611-18-06 MI18X1.5 10 06 24 11.5 24 24
28611-18-08 MI18X1.5 12 08 24.5 11.5 24 24
28611-20-08 M20X1.5 12 08 28.5 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 M24X1.5 12 08 27.5 15 32 32
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12 M30X1.5 20 12 28.5 18.3 36 36
28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 M33X1.5 25 16 32 21.3 41 41
28611-36-20 M36X1.5 32 20 35.5 20 46 46
28611-42-24W M42X1.5 40 24 36 18.8 55 55
LR T RN 2 T A Y 2861200
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 286 12-XX-XX.

81



ﬁﬁ{’ ”Eiﬁ% -~ HOSE FITTING

907 FF AR 607 [ TR
90° JIS METRIC FEMALE 60° CONE SEAT

28691 28691-W
rooE Bzt E i N
SEE | R OH A B | H | Sl |$
28691-14-04W | MI4XL5 6 04 30 [105] 40 | 19 | 19
28691 -14-06 M14X1.5 10 06 353 (105 [ 433 | 19 | 19
28691 -16-05 M16X1.5 8 05 33 ] 10 | 4 | 2| 2
28691 -18-06 MI8XL.5 10 06 353 | 115 | 463 | 24 | 24
28691-22-08 M22X1.5 12 08 41 14 | 525 | 27 | 27
28691 -24-10 M24X1.5 16 10 56 |15 | 59 | 32 | R
28691-30-12 M30X1.5 20 12 65.5 | 183 | 71.5 | 36 | 36
28691-33-16 M33XL.5 25 16 76.7 (213 | 76 | 41 | 41
28691 -36-20 M36X1.5 32 20 93 |20 | 89 | 46 | 46
28691-42-24W | M42XL5 40 24 109.4 | 18.8 | 108 | 55 | 55
Er L PRI SR e 20 AT SR T 28692-x0xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTING S
SERIES NUMBER IS 28692-XX-XX.




ﬁ’ ”E[T}%J\ HOSE FITTING

M.

19611
Pk 9 EE 60

JIS GAS FEMALE 60°CONE SEAT

I

S1

R E (A N
SR = E A B S1
19611-04-04 GL/4"X19 3 04 29 16 | 17
19611-06-06 G3/8"X19 10 06 31 18 | 19
19611-08-08 G1/2"X14 12 08 355 | 20 | 22
19611-12-12 G3/47X 14 20 12 41 22 | 30
19611-16-16 GIXII 25 16 455 | 24 | 36

Yool bt I*ﬂ;'j‘t
NOTE : 1. FOR USE
IS 19612-XX-XX.

HECY

Y 19612-Xx-XX ©

I%“ ;yﬁ“,;é.., ; ]4‘ f‘J
ITH BRAIDED HOSPES 2. IF UﬁSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER|

% PRI B 607 R
g [ |
: {WMM JIS GAS FEMALE 60°CONE SEAT
JIS B8363
29611 29611-W
S B E W R

DEE = f A C Sl S2
29611-02-03 G1/87X28 5 03 20 7 14 14
29611-04-04 G1/47X19 6 04 21 8 19 19
29611-04-05 G1/47X19 8 05 21 8 19 19
29611-06-04 G3/87X19 6 04 23 9 22 22
29611-06-06 G3/87X19 10 06 23 9 22 22
29611-08-06 G1/27X14 10 06 28 12 27 27
29611-08-08 G1/27X14 12 08 26.5 12 27 27
29611-10-10 G5/87X14 16 10 30.5 11.5 30 30
29611-12-10 G3/47X14 16 10 30 13.5 32 32
29611-12-12 G3/47X14 20 12 30.5 13.5 32 32
29611-16-16 G17X11 25 16 32 16 41 41
29611-20-20W Gl1.1/4"X11 32 20 43 18.5 50 50
29611-24-24W G1.1/27X11 40 24 435 19 55 55
29611-32-32W G27X11 50 32 46.5 23 70 70

e NIEE

NOTE : 1. FOR USE WITH BRAIDED HOSFEIS

29612-XX-XX.

HRF

|§=ﬁ| ;@“,;azﬁ v ]*‘f‘J

Y 29612-XX-XX °

2.1F USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER IS

83



ﬁ’ ”E[T}%J\ HOSE FITTING

90 ©  FUJUET PR
60~ TR JIS BR363
90°JIS GAS FEMALE 60°

CONE SEAT
29691 29691-W

o Bzt E BF S
N = F A C H S1 | S2
29691 -04-04 G1/47X19 6 04 30 8 38 19 | 19
29691 -04-05 G1/47X19 8 05 34 8 41 19 | 19
29691 -06-06 G3/8"X19 10 06 35.6 9 | 458 | 22 | 22
29691 -08-08 G1/2”X 14 12 08 41 12 53 27 | 27
29691-10-10 G5/8"X 14 16 10 56.5 | 11.5 | 6l 30 | 30
29691 -12-12 G3/47X 14 20 12 655 | 13.5| 69 32 | 32
29691-16-16 G17X11 25 16 76.7 | 16 76.5 | 41 | 41
29691-20-20W | G1.1/4"X11 32 20 91.5 | 185 | 925 | 50 | 50
29691-24-24W | G1.1/2”X11 40 24 109.4 [ 19 | 110.5 | 55 | 55
29691-32-32W G27X11 50 32 131.8 (23 | 133.8 | 70 | 70

IaH N R S R b éﬂ?F'ﬁﬁ o2 D[[%TE'JJ I A VI 29692 -xX-XX °
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 296 92-XX-XX.




ﬁﬁ{’ ”ET}%J\ HOSE FITTING

N

e P 8811
B
)
4 LLe JIS FLANGE
T £l ¥
(. fElZv E i J
DE = f A C D L
88111-10-08 5/8” 12 08 45 342 27.8 6.7
88111-10-10 5/8” 16 10 455 342 27.8 6.7
88111-10-12 5/8” 20 12 46 342 27.8 6.7
B L BRRECTREAR . 2 FT MR 8811200 e
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 88112-XX-XX.

45° FI
17 [T
=S4 /—UHLU 45°JIS FLA GE
< o V4
c
\\\
g NS =
~H fEEY E fi !
S O A C D H | L
88141-10-08 5/8” 12 08 58.9 342 27.8 24 6.7
88141-10-10 5/8” 16 10 69.6 342 27.8 253 6.7
88141-10-12 5/8” 20 12 76.3 342 27.8 28.9 6.7
=L R ‘ﬁj iy F“ o 2. ﬂ[lﬁ“ INELES Y (il TS ) Yo 88142 -XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 88142-XX-XX.

85



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

Bii s

C

e
f_umuuuuum,
=

88191

90 °

90°JIS FLA

[

§

i
GE

FITTINGS SERIES NUMBER IS 881 92-XX-XX.

s

g q N =
ST B2V E Fow J
ST = A C D H L
88191-10-08 5/8” 12 08 41 342 | 278 48 | 6.7
88191-10-10 5/8” 16 10 56 342 | 278 | 525 | 6.7
88191-10-12 5/8” 20 12 662 | 342 | 278 62 | 6.7
IEH N RE S R B ﬂ%«@? 2. f/['ﬁE'P’ ?i'”érﬁ??f*frl Vo 88192-xx-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

Mﬂ 20011-ST
[ i 2 B By
[ S B
(ZZZZ)WH—UHHHH—J" METRIC FEMALE WATERWASH INSERTS
D
ST b E A N
DR F = A d D
20011-22-03ST M22X1.5 5 03 245 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 34.5
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 34.5

E N IRt
NOTE : 1. FOR USE WITH BRAIDED HOSES

2.

IR B ety
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 200 12-XX-XX.

Y 20012-xx-XX ©

86



ﬁﬁ{’ ”EIT}%J\ HOSE FITTING

R 70011
e B i
\/ DIN 7642
AR e E IS N

VRN = A d D H
70011-10-03 M10X1 5 03 14.5 10.1 17 10
70011-10-04 MI10X1 6 04 17 10.1 17 10
70011-12-04 MI12X1.5 6 04 20.5 12.1 20 12
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
70011-12-06 M12X1.5 10 06 20.5 12.1 20 12
70011-14-04 M14X1.5 6 04 19 14.1 24 14
70011-14-05 M14X1.5 8 05 19 14.1 24 14
70011-14-06 M14X1.5 10 06 21 14.1 247 14
70011-16-04 M16X1.5 6 04 20.5 16.1 28 16
70011-16-05 M16X1.5 8 05 20.5 16.1 28 16
70011-16-06 M16X1.5 10 06 20.5 16.1 28 16
70011-18-04 M18X1.5 6 04 23 18.1 32 20
70011-18-05 M18X1.5 8 05 24 18.1 32 20
70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 M18X1.5 12 08 24.5 18.1 32 20
70011-22-06 M22X1.5 10 06 28.1 22.1 39 25
70011-22-08 M22X1.5 12 08 285 | 22.1 39 25
70011-22-10 M22X1.5 16 10 27.5 | 22.1 39 25
70011-26-12 M26X1.5 20 12 30.5 | 26.1 46 30
70011-30-16 M30X1.5 25 16 37 30.1 54 36
70011-30-20 M30X1.5 32 20 41 30.1 54 36

LR R 2

SERIES NUMBER IS 700 12-XX-XX.

IR AR
NOTE : 1. FOR USE WITH BRAIDED HOSES

Y 70012 -xx-XX °

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

87



ﬁﬁ{’ ”EITE&J\ HOSE FITTING

EE

7OOM

B

| RIC BOLT
DIN 7643
m

, . R 7]
o fE2v E

A B C S
700M -10 MI10X1 19 4 6 14
700M -12 MI2X1.5 24 6 6 17
700M -14 M14X1.5 26 8 7 19
700M -16 MI6X1.5 28 9 7.5 2
700M -18 MI8X1.5 3 11 8 24
700M -22 M22X1.5 39 14 9 27
700M -26 M26X1.5 45 8 10 )
700M -30 M30X1.5 51 2 11 36

88



ﬁﬁ{’ ”ET}%J\ HOSE FITTING

A
I —

%ﬂ— 72011
! 9 [

.,
| ] JHIIIT R

S e i N

DR = H A d D H
72011-02-03 G1/87X28 5 03 18 9.9 24 16
72011-02-04 G1/87X28 6 04 18.5 9.9 24 16
72011-04-03 G1/47X19 5 03 19 13.3 24 15
72011-04-04 G1/47X19 6 04 19.5 13.3 24 15
72011-04-05 G1/47X19 8 05 19.5 13.3 24 15
72011-04-06 G1/47X19 10 06 19.5 13.3 24 15
72011-06-04 G3/87X19 6 04 22 16.7 29 20
72011-06-05 G3/87X19 8 05 22 16.7 29 20
72011-06-06 G3/87X19 10 06 22 16.7 29 20
72011-06-08 G3/87X19 12 08 23 16.7 29 20
72011-08-05 G1/27X14 8 05 27.5 21 38 25
72011-08-06 G1/27X14 10 06 27.5 21 38 25
72011-08-08 G1/27X14 12 08 28 21 38 25
72011-08-10 G1/27X14 16 10 29 21 38 25
72011-10-10 G5/87X14 16 10 28 23 40 27
72011-12-10 G3/47X14 16 10 32 26.5 48 31
72011-12-12 G3/47X14 20 12 32 26.5 48 31
72011-16-08 G17X11 12 08 40 33.3 60 42
72011-16-12 G17X11 20 12 40 33.3 60 42
72011-16-16 G17X11 25 16 41 33.3 60 42

IE L U R A | NEIERT e 2 y['ﬁTﬂ I E Yo 72012 -XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 720 12-XX -XX.

89



E s

If

HOSE FITTING

gp]

A

==
-

720B

i

T T

PRAEIBE RS

DOUBLE CONNECTOR

—kI
180

BSP BOLT
R -]

o [EZV E

A B C S1
720B-02 G1/87X28 29.5 4.8 4.8 14
720B-04 G1/47X19 28.5 6 6 19
720B-06 G3/87X19 38.5 9 7 22
720B-08 G1/27X14 44 13 8.5 27
720B-10 G5/87X14 48.5 15 10 30
720B-12 G3/4”X14 56 18 10 32
720B-16 G17X11 68.5 22 13 41

— 90011

S A S

AR F L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
90011-10 16 10 %9
90011-12 20 12 96
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

PES éﬂéplﬁﬁ NOTE:FOR WIRE BRAID HOSE.

90



Fi A & HOSE FITTING

90012
22707 PR E

JJﬂﬂMMMUHi}HlMMMMMLL; DOUBLE CONNECTOR

S o N

AR F H L
90012-04 6 04 %3
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 9]
90012-10 16 10 97
90012-12 20 12 111
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

12:] 7 giZx 7. NOTE:FOR SPRIAL HOSE.




